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Abstract

As an attempt to compile a standardized English word list for science and engineering students, the author
proposes herewith 853 words as candidates. The word list includes 283 basic scientific terms and 570 general
academic words. The basic scientific terms are based on the key concepts that Japanese junior high school
students are supposed to learn in science classes, whereas the general academic words are based on the
Academic Word List (AWL) (Coxhead, 2000), which consists of words that appear with high frequency in
various types of texts (journals, textbooks, manuals, etc.) in a wide range of academic subjects (history,
psychology, economics, law, science, etc.). To facilitate learning, the author has provided an example sentence for
each word as well as its Japanese translation. The author has also provided the frequency level of each general
academic word according to JACET8000 (JACET, 2003).
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reflection
We can see things because of the reflection of light.

(o7 B id, KORFHC > THERZ LA TES.)
law of reflection
According to the law of reflection, the angle of incidence equals the angle of
reflection. (BCHFOEANC XX, ASAIEREHAIZEL W)
refraction
Light bends when it enters at an angle from one transparent substance, such as air,
into another substance, such as water. This bending of light is called refraction.
Otixd 2 ZHLWE (RRE) 5, HLMETHOWE (KikL) ~AbL &I
Piidis. 2o X1 riiliai s 2 & 2 d LA
total reflection (Jti#15%7%F : total internal reflection)
Total reflection occurs when a ray of light strikes a medium boundary at an angle
greater than a particular critical angle. (&4F1, JEARABEE OBERIE IR LT, 4%
TSRS MR TAS L2 EITRIS.)
focus
A focus is the point where reflected light rays or refracted light rays converge.
(BEriid, RV LUBFISEET LI RO ETH L. )
real image
A real image is formed when an object is placed outside the focal length of a convex
lens. (FF1Z, WAL ¥ ZOERBEEOIMIIZE»N T2 L 12T 5.)
virtual image
A virtual image is formed when an object is placed inside the focal length of a
convex lens. (EIRIE, WAL ¥ ZOE O NMICE» N2 E ZI2ETS.)
amplitude
The amplitude of a sound wave is related to the loudness of the sound.

FHROIWIFL, HFORSSIZEboTRS.)
wavelength
The wavelength of a sound wave is related to the pitch of the sound.

HROWEIR, HORSIIEboTn2.)
frequency
The frequency of a sound wave is the number of vibration cycles within a set period
of time. (FORWEEIE, —EMMICBT 5, FWROERHKTHS.)
newton (N)

The newton is a unit of force. 1 N is the force of the earth’s gravity on an object with
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a mass of about 100 g. (=2— b+ ¥ (N)IZHDOHLITH A, 1 NIk, BXZ100g oWk
D2 WEROFENOKRE SITHELW.)

three elements of force

The three elements of force are: (1) the point of application of force, (2) the magnitude
of force, (3) the direction of force. (JJ?D 3HEFK &1L, (IIOIEHR, 2JOKREE, (3)
NOMETH5.)

conditions for the equilibrium of two forces

The conditions for the equilibrium of two forces are: (1) The two forces are on the
same line; (2) The directions of the two forces are opposite; (3) The two forces have
the same magnitude. (2 1O 2 D HVOZEMLIE, ()220 - ECHS. (2)
200NDOMEFHTHS. 3)2200OKESEFHELV. TH5.)

pressure

The tire needs more air pressure.

(ZDFAXEH 5 L ZBAEDVES.)

atmospheric pressure

Atmospheric pressure decreases at higher altitudes.
(BEOEmVE A TR, KL T2.)

static electricity

Static electricity is produced by friction and it stays on the surface unless
discharged. (FFESIIBIEIZL > TAEL, HEINRWVIRY, RmickEEs,)
electric circuit

A simple electric circuit is made up of a battery and a resistor.

(M. BRI, BREEPSHENOH->TWn5.)

series circuit

In a series circuit, the current through each of the resistors is the same.
(BFEHTIE, TR ENOPLERITHEN L BIRIZHFEL W)

parallel circuit

In a parallel circuit, the voltage across each of the resistors is the same.

QAN EE T, TRENOIPLEIT 2L EBEIZFEL W)

electric current

The SI unit of electric current is the ampere.

(BROEBRHALX, 7Y XTTH5.)

electric voltage

Electric voltage is defined as the electric potential difference between two points and

can be regarded as a force or pressure which pushes the electric current.
(BIEIX 2 MHOEMETHY, BREEMLKETNAZVLEIENELLELZ LT ENTE
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electric resistance

Electric resistance is a material’'s opposition to the flow of electric current, which is
measured in ohms. (FEXHILE 1%, HLWHOEROWNIZL EDZ L &L, Bt —
A (Q) THIsNG.)

Ohm’s law

The formula of Ohm’s law is V = IR, where V is voltage, I is current, R is resistance.
CF—20FAOARE, V=IR (VIZBEIE, NIEE, RITHEIN) THIN5D.)
electric conductor

Copper is a good electric conductor.

(B, L<ER/ZETWHEZ.)

insulator

Some common insulators include glass, plastic, and rubber.

(RREW MR, IR, TIATA v, TRGEENDD.)

electric power

Electric power is the amount of work done by an electric current in a unit time and
measured in watts. (87) &%, BRI T 244FH & OZ LT, 7y M(W)T
xKIN5b.)

watt (W)

1 watt is the power of 1 ampere of electric current when the potential difference is 1
volt. (1 7 Mi&, 1KV IFOEEZPITTL T U RT7OERVHENIZL ZDEITH
%.)

electric energy

Electric energy is the amount of work that can be done by electricity, i.e., the
amount of electric power produced or used over a specific period of time. The unit
of measurement is joule (J :1 J=1Ws). At a general household, electric energy is
measured in watt hour (Wh) or kilo watt hour (kWh). (EJJ=i, BRICE->Th
ENhBttE, Tabb—ERMICAETZIHESINLIENOROZ L THDL. HAL
Y- (J:1J=1Ws). —RFEOEIEIZ, 7 b (Wh), F@dFuTy
MEE(kWh) Tl 51 5.)

heat energy

Heat energy is measured in joules (J) or calories (cal). 1 J is the amount of heat
generated by 1 W of electricity in a second. 1 cal is the amount of heat required to
raise the temperature of 1 g of water by 1 C.(1 J=024 cal) (Bi&iZT 2 —F 721
) —=THllo5NE. 1TVa—NiE 17y FOBHTIHHIZRETLIHETHY,
LAY —iE, 1 gOROiEEZ 1TCEASELHETHL. (1]=024 cal))
magnetic force

The cylindrical magnet has a strong magnetic force.
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(Z OMFERAIL, BeBEhzRoTwa.)

magnetic field

Magnetic resonance imaging (MRI) is a diagnostic scanning system that has a
strong magnetic field. (MRI (FE&ILISHEIEZNIEERE) (&, WAORBE L - 72, B
VAFLTHD.)

direction of a magnetic field

The direction of a magnetic field is the direction in which the north end of a compass
will point when placed in a magnetic field. It is represented by the lines of magnetic
farce. (BEHDIN XX, WHICBEI NI VN ZADOWSDBNZIRTHETH L. BHD
&, WHOMTERIZENTES.)

line of magnetic farce

Lines of magnetic force come out of the north pole and go into the south pole.
(REIMUE N S I T, SHIZAS.)

right-handed screw rule (Ampére’s law)

The right-handed screw rule states that if you wrap your right hand around a
straight wire with your thumb pointing in the direction of the electric current, your
fingers will point in the direction of the magnetic field. It also states that if you wrap
your right hand around a coil (solenoid) with your fingers in the direction of the
electric current, your thumb will point in the direction of the magnetic lines in the
coil. (FHRLDEANZ, FoF CREHRITERIWMNL & &, BIRON S ITHTFOBR
EEDLETEL LT L E, BAOMEIMOTPIET HMCLRE I L 2EKRT 5.
oA LOFEANE, MfFE I VICERS NS & &, BROMEICHTOREELE
TRDLEIHICT DL, BEFIAVHOBIROME 2T L E2ERT S.)
Fleming's left-hand rule

Fleming's left-hand rule states that if you hold your left hand with the thumb, index
finger and middle finger all at right angles to each other so as the index finger points
in the direction of the field (north to south) and the middle finger in the direction of
the current, the thumb will point in the direction of the force. (7L I ¥ 7O T
HIE, ATo#s AZELIE HE22050WICHEMICRL L)L, AELEZBAD
&, PRz EROMSICEDEL L, BIROBTINE D, BRISERD»LZT L0
&2 LeBKT5.)

electromagnetic induction

The principle of electromagnetic induction is used in most electric machines.
(BRFEOKIL, ZEALOBEBKMMTHVYONTWVS.)

induced current

The generated induced current was stored in a capacitor.

(BB L -8B, v FrHicERonz)

electric generator (dynamo)
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An electric generator is a device that can convert kinetic energy into electric
energy. (FEMIL, EHZANF—ZERALANT—IEZLHEETHS.)

speed

Speed is a distance traveled in a period of time.

(Fxid, —ERHICBETLAHOZ L THA.)

average speed

The average speed of a moving object is calculated by dividing the distance traveled
by the time of travel. (BEVMRDVPIGHEEIL, ZOWKDBE L7222, £hirE
L7 CHAZ LICL > TR ENS.)

instantaneous speed

The instantaneous speed is the speed at a particular instant of time, and it may
change from moment to moment. (BEHEEE L X, HLEEOEITH Y, H—H &
ZAL LS. )

linear uniform motion

If we throw a ball in outer space, it will perform a linear uniform motion.

(FHZEM TRV ERTFL L, THESREHERZ S 257259 .)

friction

Friction is a force that resists the motion of an object that is in contact with another
object. (BEHE&I1E, #ML CO2WHROB XL L) ET2IDZLTHE.)
Newton's laws of motion

Newton's laws of motion are: the law of inertia, the equation of motion, and the law of
action and reaction. (== — k> OEBOBEAIE X, EEOBEH, EBH LR, EHX
EHOENTH 5. )

law of inertia

The law of inertia states that an object will stay at rest or move in a straight line at
a constant speed unless it is acted upon by a force. (IMEDBFHIE X, HAMZ S5h
UL, PRIEERE L2 £, FREREIH EHTLIEE N .)

equation of motion

Newton's second law of motion is known as the equation of motion: ¥ = ma, where F
is force, m is mass and «a is acceleration. (== — b ¥ OEEOEE 2 FHNE, EB) S FERX
F=ma (F137), mi3ER, al3NEE) L LTmshTns,)

action and reaction

According to the law of action and reaction, when one object exerts a force on
another object (action), the second object exerts an equal force in the opposite
direction (reaction). (fEH & RAEHOFEANC L UE, HHWEICTEZMA % & (TEH),
R Z 0Pk S & TR EKRE SO 225 (BAEM).)
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work

In physics, work means exerting a force to move an object in the direction of the
force. Work can be zero if the object does not move at all no matter how much force
may be applied. (WHF#IZBWT, THEF] L3RI ZMATZOmMEIZWELH)
NPT IERERT L. 2L PRI SDEMATY, EhdErziF sz L
AR 3R NN

amount of work

The amount of work is measured in joules (J). 1 J is the amount of work done when
1 N of force acts through a distance of 1 m. (FFOKEZF V2 — N (])TEREINS.
1Va=id, 1=22a—FrONTL A= MVERLAE EOHFREEFET.)

law of work

According to the law of work, the amount of work remains constant no matter how
long it takes. (fEFFOFEIZ LiUE, HFoORER, AFITHhh o 2RHIZI 2D ST
—ETH5b.)

power

Power is the amount of work done in a period of time, i.e., the rate at which the work
is done. Power = Work / Time. ({33 &%, AR ML) OLFHBEOZ L THS.)
energy

Energy is the ability to do work, therefore the amount of energy is measured by the
amount of work that can be done by the energy. (ZANVF— L dHFHEE T 55D
TETHY, TRWRICZANF ORI, TOIANVF—IZL o ThINEFLMEHD
®IZkoTHIOENS.)

potential energy

Potential energy is energy stored in an object where there is a force that tends to
pull the object back towards some lower energy position. (fiiE T 2V F—& i, Wik
XDV A NF LB ERZ ) ET NPT S L &I, ZOWEROTIZE
ABNTVAIAINF—DIETHA.)

kinetic energy

Kinetic energy is the energy that a moving object possesses because of its speed and
mass. GEB)T AN F—L 13, EHT WD, TORELHEOD ZITFHFOL ANV F—
DZETH5.)

mechanical energy

Mechanical energy is the sum of potential energy and kinetic energy.
(IFHIALFE—LE, EIIAVE— BT A LE—2abEbDTHD.)
law of conservation of mechanical energy

The law of conservation of mechanical energy states that the sum of potential
energy and kinetic energy remains constant. GEZ)T AV F—fRAFOPFI & 1L, 7
IANF = LEBT AV F - ORAPHIC BRI 2v).)
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57. TAINVF— law of conservation of energy
PRAF D PRI The law of conservation of energy states that energy cannot be created nor

destroyed. Thus the total amount of energy is constant even though energy may
change forms. (Z ANV F—REOFEANZ I L, ZANVF—1ZH2IEABENS 2
ElE%m, HRTAZ LW, Tz, TANVF—RBREEILIENH-TYH,
ZORBER—ETH5.)

| £ =

(EDMHE]

58. &EDOME  characteristics of metals
The characteristics of metals are: (1) They tend to be shiny; (2) They conduct electricity
and heat very well; (3) They are malleable and ductile. (&g DM X, (1) BiRY D 5.
(2BRAREE L CHET. QEELEENHL. EnHIZLTH5S.)

59. organic compound

(G81LE&W) Proteins are organic compounds that consist of amino acids joined by peptide bonds.

(5 YN TE, T3 I BHPRT T PG LIARILEW TH D)

60. inorganic substance
Minerals are inorganic substances.
(B, WM TH5.)

61. mass
Mass is the amount of matter measured by using a balance. Therefore, it is the same
anywhere in the universe regardless of the strength of the local gravitational field. (&
®E, RHECTERSZZWEORTHS. LzA->T, T, EHORII2rb5T,
FHOLEZITHHLTHS.)

62. ¥ density
The density of a material is its mass per unit volume.
WHEOHEL, TOWHEDORMAILT- ) OHRETH 2. )

63. K b collection of gas over water
Water-insoluble gasses can be collected over water.
RICET ki, K EEBRETIUES 2 2L 05TE%.)

64. T HEHED collection of gases by downward delivery
The gases heavier than air can be collected by downward delivery.
K& D EWLERE, THERETETL LN TES.)

65. L riE collection of gases by upward delivery
The gases lighter than air can be collected by upward delivery.
Ok & DBV, EHERETIET A LD TE2.)

66. - state changes

The three states of matter are: solids, liquids and gases. The following are the phases
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of state changes: melting (solid — liquid), evaporation (liquid — gas), condensing (gas
— liquid), freezing (liquid — solid), sublimation (solid & gas). (W& D 3 D DIREEZ,
FfR - R AR CTH D, RIBIRBZALDO KB TH 5o M (EAR—HHE), 2% )
R—K), B Gk, SEE GEAA—REE), 733 (Fkexdk).)

melting point

The melting point of gold is 1,064.58 C.

(EOREEIE, 106458 CTH %.)

boiling point

The boiling point of water is 100 C under normal atmospheric pressure.

GHF OKRFAHETIE, KOBEIZI0 CTTH 5. )

distillation

Brandy is made by the distillation of wine.

(77 v7—1d, TAVEHEELTEON 3 DTHS.)

solute

Sugar, as well as salt, is a solute in water.

(WFE1L, WEFM KISHITHLHBETHS.)

solvent

Benzene is a solvent for fast drying inks.

(RYE L, HEEA Y FOBETHS.)

solution

In saline solution, salt is the solute and water is the solvent.

(KT, HAWHET, K0TS 5.)

aqueous solution

The aqueous solution is slightly alkaline.

(ZDREHUE, §§T VA V)

saturation

The saturation point of salt is about 26 to 28% depending on the temperature of the
water. GREOFIF L, KOWEEIZD X525, #26~28%THh5.)

saturated aqueous solution

20 ml of saturated water solution of NaCl was added and shaken vigorously.

(20 ml DIFALF U 7 AfaFUKEEZ IR, RS 720)

solubility

The solubility of a substance depends on the solvent as well as on the temperature
of the solution. (& 2WE DML, BEOMEE DB L RO KA T 5.)
crystal

The molecule model shows the crystal structure of a diamond.
(ZO5FHINE, 74 7Y FOMBMELEEZRLTN5.)

recrystallization
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Solid organic compounds can be purified by recrystallization.

(EADLEWIE, BRI E o THRETHLI LA TES.)

acid

An acid solution contains more hydrogen ions (H*)than hydroxide ions(OH~). (pH<7)
(RRUEEHBIL, KA A A XD S KFEAF 2% &8, (pHLT))

alkaline

An alkaline solution contains more hydroxide ions (OH~) than hydrogen ions (H*).
(pH>7) (7 A VPREHIE, KFEA ¥ L) SRR A + > 2% &S, (pH>T))
neutralization

Neutralization is a chemical reaction in which an acid and an alkali (base) interact
to form a salt and water. (FPFI& I, FREIEAEDSHEMEMN LT, WEKEIELILFEKX
IBDOZETHD.)

salt

A salt is a compound formed by neutralization. For example, NaCl is a salt formed by
neutralizing HCl and NaOH. (&%, AN EX > TCTEALEWTH 5. HlziE, i
b+ bYU s (NaCl) (&, ik (HCD &oKkiEft) ) w24 (NaOH) ZHhHIE®TT
E5HTHS.)

base

A base is a chemical compound that produces hydroxide ions (OH~) when dissolved
in water (= alkali). For example, sodium hydrate (NaOH) is a base. ({&2k& 1%, K
ST TKRBRILA + Y 2T 2WETHL (= TVAY). BIZIE, KEILFPY T4
FHETHS.)

chemical change

A chemical change produces new substances, while a physical change does not.
LA A IH 72 e W E 2 BT 505, WEEAIZE ) TlE %)

decomposition

Decomposition is a chemical reaction in which a chemical compound is broken into
elements or simpler compounds. (5% & 1%, {LEWHBINL O DILERWVWLIE, LD
R ZALEW RS NP2 L TH S, )

electrolysis

Electrolysis is a method of using electric current to cause decomposition.

(B EZ, BiREMioTHMeilEEITHETHS.)

element

An element is the simplest form of substance consisting of a single type of atom.
OcFE i, 1HEOREF»5%5, RDEMLYWELETHS.)

atom
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An atom is the most basic unit of matter.

JEF1%, WEOR S ERWLHEENTH 5. )

molecule

A molecule is a group of atoms that are bonded together. It may consist of atoms of
the same element (eg. O,) or of different elements (eg. H,O)

(FE, WOPDOBEFBRIONb DT, BEFTODLIIIZLIDDLE,ILLD
bobdHE, KFTFOLIC2OUEOTLHEPSEL2bDLH5.)

simple substance

A simple substance is made up of a single element and it cannot be decomposed any
further. (BRI 1 I OILEP SR> TEY, TN LMOWEIZHH I \»,)
compound

A chemical compound is made up of two or more elements.

L& 2FEE DL LOTEHEN LR > T 5.)

mixture

Air is a mixture of nitrogen, oxygen, argon, carbon dioxide, etc.

(2RISR, BR 7Ty, ZBUREREOREWTHS.)

chemical formula

The chemical formula of sulfuric acid is H,SOj,.

(R DL EHS0, TH 5. )

chemical equation

The chemical equation of photosynthesis is: 6H,O + 6CO, = C¢H 505 + 60,.

OtEmR ISR IE, 6H,0 + 6CO, = CeHiOs + 60, TH 5. )

chemical combination

Chemical combination and decomposition are opposite chemical reactions.

L& L, PO OLFERISTH 5. )

combustion (burning)

Combustion is a chemical reaction in which a substance is combined with oxygen to
produce heat and light. (BRBEE IZBREEZ M L A5, WEPMELEMFL LT
»H5.)

law of conservation of mass

The law of conservation of mass states that the total mass of substances involved
will remain constant before and after a chemical reaction. (B ERAFOFEHNL, fba
ZALORHI R T, TOMEZLICEBR L TV R2WEEROERENEDL VI LEN).)
exothermic reaction

An exothermic reaction is a chemical reaction that releases heat. One example of
exothermic reaction is oxidation of iron sulfide (FeS) to form iron oxide (FeO) and
sulfur dioxide (SO,). FEBASUS & 1%, Ba2 FEAT 2ILF IS TH 5. FEESULDO—FIZ
b8k RAL L C, BRALSkE “RILA A D TELIETH 5.)
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endothermic reaction

An endothermic reaction is a chemical reaction that absorbs heat. Most
decomposition reactions are endothermic. (WZEASUS &1, #% WIS 1L 6 TH
5. FEAEDTHRISIEREATIETH 5. )

oxidation (oxidization)

Oxidation is a chemical reaction with oxygen. It is always accompanied by reduction.
(b d, MELALETLILETHL. BALITFITETE LD %)

oxide

An oxide is a chemical compound of oxygen with another element.

(At &3, MELMOTHEELEMTHS.)

reduction

Reduction is a chemical reaction that removes oxygen. It is always accompanied by
oxidation. (RIC& 1%, MEHEERIMLFAIUEN T L TH D, EILIXHICRILE LD AS.)
electrolyte

Electrolytes break down into cations and anions when dissolved in water.

(B IIAKITIET B LA 4 v A+ Vi25nhb.)

nonelectrolyte

Nonelectrolytes do not ionize when they dissolve in water.
GEEMEIE, KITHET T A4 Ll Zwv.)

electrolytic dissociation

Electrolytic dissociation occurs when an electrolyte is dissolved in water and broken
down into cations and anions. (FEEE& %, EMEKISE T CThHA L+ v &L+ 12
DhNDZ LRV )

cation

A cation, or a positively charged ion, is an atom that has lost an electron or electrons.
(A A, B2 1z LEBAKSZEFTHS.)

anion

An anion, or a negatively charged ion, is an atom that has gained one or more
electrons. (B4 4 ~i%, BT % 12V LEIHZ TN 25T TH 5. )

atomic nucleus

An atomic nucleus is a positively charged center of an atom, which is made of
protons and neutrons. (FTH#41%, FHTFOHLIIH ST T ADFEM =4 7K1 T, B
FEHREFHPHTETS.)

electron

An electron is a negatively charged elementary particle that orbits the nucleus.
(BT1E, HTHOREYZ2EboTwd, AOBMEWO7-EZRTThS.)

proton

A proton is a positively charged particle that is found in the nucleus.

_48_
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(B, BEPBEORIZH ST I ADEME T 7R TTH 5. )

neutron

A neutron is a particle with no charge that is found in the nucleus.

(PETE, BEFBOMICH 2B M2 H I TRV T Thb.)

ionic formula

An ionic formula is a chemical formula to represent an ion. For example: Na*, SO,%.
(A AR, A4 2£I ¥ TH5. #: Na', SO2)

ionic equation

Ionic equations represent chemical reactions in terms of ionic formulae. For example:
Na* + CL'— NaCl (£ 4 v Bostix, £ 4 vRNEH TR LR TH L. fi -
Na* + CL'— NaCl)

battery (electrical cell)

A battery is a device that produces electricity. Primary cells are non-rechargeable
batteries such as dry cells. Secondary cells are rechargeable batteries such as fuel
cells. (FEihl, BREEANTEETH L. H1REBEMIZERZLEDOLHIZKET
SVl F2REMIBAEBLOL I ICHBTEL2E MO LE VY .)

fuel cell

A fuel cell is a device in which hydrogen is combined with oxygen to produce
electricity and water. (JREEMIX, KEZBELILESET, KEBEBRZHLIEET
»5.)

116. ALA fossil fuel
Fossil fuels include petroleum, coal, and natural gas.
ek, auh f, RRTAZEE.)
| £ 9
=tY)
7. BLX stamen
The stamen is a male reproductive part of a flower, which is composed of the
filament and the anther. (B L& 1%, EOMHEHEAGGHE T, ERERINBHS.)
118. L~ pistil

19. A9

120. V5

The pistil is a female reproductive part of a flower, which is made up of the stigma,
style and ovary. (O L-~&IE, [EOMEMEAGEE T, HEH, B FE»5%25.)
stigma

The stigma receives pollen grains, which are then transported into the ovary, where
fertilization takes place. (FEEHAYZ I - 724EM1E, FHEOFIEITN, 2 TR
"Z5.)

ovary

The ovary may ripen and develop into a fruit.

_49_
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ovule

After fertilization, the ovule develops into a seed.

(W%, WHRIFTL%5.)

anther

The anther is a small sac where pollen is produced and stored.

(L&, BRESN, RO TWAIAELREDOILTHD.)

pollination

Pollination means the transfer of pollen from the anther to the stigma.

ke, BLROEHD, O LROMHEIZOLL L THS.)

seed plant

The seed plants include angiosperms and gymnosperms, and they are reproduced by
means of seeds. (PRI, B A &R TR H D, & HITHFIZ X o T
2T )

angiosperm

Angiosperms are the flowering plants and they are divided into two categories:
monocots and dicots. (B TFHEMIZIEZ LS LMW TH Y, HFIEHE NIRRT
HIns.)

gymnosperm

Gymnosperms are naked-seed plants such as conifers.

(BRFREPE, SRS X ) I 2L EM LICG > TW AW TH 5. )

leaf veins

Leaf veins are bundles of tubes that conduct substances within the leaf and lend
support to the leaf tissue. (FEMRIZFEOT TYE Z ERMHEE R TH Y, EoMBE LR
LEESH LTS

netted veins

Dicots have netted veins on their leaves.

(BT EH ORI, MRIRE FE.)

parallel veins

Monocots have parallel veins on their leaves.

(BFEROZEL, PATIREHD.)

stoma

Gases and water vapor pass through stomas on leaves and stems.

(FARKAELD, FEREIIDHIAINZHE s THADTS.)

chloroplast

The chloroplast is the location where photosynthesis takes place.

(R RIL, BB TON LS TH 5. )

chlorophyll
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Chlorophyll is a green pigment found in most plants.

(BB, FLALOMPICH LN ETHS.)

photosynthesis

Photosynthesis is the process by which plants use the energy from sunlight to
convert carbon dioxide into sugar. OGEHIE, RWAKB T ANV F— 2o T, —Hk
LIRFED OHEGZVED 72T 70 XA TH5.)

root hair

Root hairs absorb water and nutrients from the soil.

(BREE LK ERKEGTZWINT S.)

vessel

Vessels transport water and minerals from root to plant.

GEEE, WD SWILL 72K R85 % 3 5. )

sieve tube

Sieve tubes transport soluble food materials produced by photosynthesis.

(%X, GERTIEL NKBEDORES ZESR.)

vascular bundle

The vascular bundle consists of vessels and sieve tubes.

(MEE LS LS 252 5.)

transpiration

Transpiration means the evaporation of water vapor from the leaves of plants.
(L E, WYWOENPSKPERTLHI LRV .)

monocots

Monocots are plants with a single seed leaf such as lilies, irises, and orchids.
(BFEERIL, FEFLIBORYT, 219, 7YX, WirEdrdHs.)

dicots

Dicots are plants with two seed leaves such as azaleas, dandelions, and camellias.
(RLT-HHIE, TN 2HOMT, vy, §VRER BhEdrds.)

sympetalae

Sympetalae is a group of flowers that have joined petals such as azaleas, dandelions,
and cosmoses. (GFAMEHEIZ, YV Y, FYRE, TXETADIHIZ, LS HEL
TV32HD%EV).)

choripetalae

Choripetalae is a group of flowers that have separate petals such as roses, cherries,
and pansies. (BEFAEHILZ, T, 25, Ry I—D X I, LR TVSD
DEGY.)

vertebrate
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Vertebrates are animals with a backbone. They include fishes, amphibians, reptiles,
birds, and mammals. CFHEE)W X F 2 FOBWTH Y, S, WA, TCIUE, SR,
WAL D 5.)

invertebrate

Invertebrates are animals without a backbone. They are divided into arthropods and
soft-bodied creatures (mollusks). (MEHFHEEW X H 2R VEWTH Y, HiLH
Yy & WARE BN, )

oviparous

Oviparous animals reproduce by laying eggs.

(GRAEOBYIZ, FEINC X > T 2325, )

viviparous

Viviparous animals give birth to their young that have been nourished in their
mother’s bodies. (JGZEDEIWIE, M TFZAERNTHLHRERESETHLED.)
poikilotherm

A polikilotherm is a cold-blooded animal whose body temperature changes according
to the surrounding temperature. (ZiBEWix, AREAEPHOWE & & b I22(L5 58
WTHs.)

homeotherm

A homeotherm is a warm-blooded animal whose body temperature stays about the
same regardress of the surrounding temperature. CIEHIREIW X, B OREIZh DD
59, Kz —EIROBWTHS.)

herbivore

A(n) herbivore is an animal that feeds on grass.

(Herbivore (RLEEY) &1F, HEAXLZEPYOZ L TH5.)

carnivore

A carnivore is a “meat eater’ Carnivores generally eat herbivores, but they may
also eat omnivores, and occasionally other carnivores. (Carnivore (WEEY) & i3,
WEERLZEPOZETHL. — ML, EHABHWE EXDLA, HEHWL, Hmor
BEWEARLZLLH5.)

sense organ

Our sense organs include, the eyes, ears, nose, tongue, and skin.

(EREEE R, B/ B, &\ KEP»5.)

sense

The five senses include sight (vision), hearing (audition), smell (olfaction), taste
(gustation), and touch (tactition). (FJ&& 1%, U, PEE, W KE fMEoZ &
Th5.)

retina

The retina is a screen at the back of the eye. When light is focused here, an image is
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formed. (M1, IREROBADHIZHHAZ ) - ThHDH. ZZIhrETr e, 1§
NTED.)

cochlea

The cochlea is a snail-shaped tube in the inner ear, where sound vibrations are
converted into nerve impulses. (9 3 F XERXHNFIZH D45 Y 1) DEE L72&HET,
Z 2 CREORE)DRERIBIAR S NG )

sensory nerve

Sensory nerves carry information about the body's senses to the brain.

(RFMRE, BEHE»LOMHZMIIZR 5. )

motor nerve

Motor nerves carry impulses from the brain and spinal cord to muscles.

GEBh AR, P X B0 DR A HWITIZZ 5. )

nervous system

The nervous system consists of the central nervous system and the peripheral
nervous system. (fHfRIE, HHCAHRR & KHRER1LO R 5.)

central nervous system

The central nervous system consists of the brain and spinal cord.
(PR, e A5, )

peripheral nervous system

The peripheral nervous system consists of sensory nerves and motor nerves.
CRESHREL, e & B S5 . )

reflex

Reflex is an automatic instinctive reaction to a stimulus.

(g &, MHI 5 2 AT, ARNZETH 5. )

digestion

Digestion is the process of decomposing food into substances that can be absorbed
into the body. (L& 1&, EWEENICBINEI ML T WL D ZWHIZHHT L 70t
ADZETHA.)

digestive juice

Digestive juices are produced in the salivary glands, the gastric glands, the pancreas,
the liver, the gallbladder, and so on. (JHMbiik, MEWAR, AR, TV, P Ho
I HRETHESNS.)

alimentary canal

The alimentary canal is the passage through which food passes for digestion from
mouth to anus. GHILE &1E, AW2THALDO7=DIZ, O2HIMETHESLET LD
LTHhb.)

intestinal villus

Intestinal villi are tiny projections on the wall of the small intestine.
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(ME, DMHORECH /NS BZERTHD.)

cell respiration

A cell uses oxygen carried by blood to decompose nutrition and get energy. This
process is called cell respiration. IflZ, MEIZ & > THEITNAEREE i THER
SRL, TAVE—%EL. ZoTavAE, M E WS )

alveolus

An alveolus is a little cavity within the lungs, where gas exchange with the blood
takes place. (il & &, Wi /NS R4 T, 22 TR & OF ALK TbILA.)
erythrocyte (red blood cell)

An erythrocyte is a blood cell that contains hemoglobin to carry oxygen to the bodily
tissues. (RIMERIZANEZ B Y V&2 EHAR, KONGRSR ESMEOMBTH5.)
leucocyte (white blood cell)

A leucocyte is a blood cell that eats germs.

(FMmERE, M Z2EZXLMEOMBTH 5. )

blood plasma

Blood plasma is the colorless watery fluid of the blood.

(M%E &, MR 2SS 2 B OWERR T TH 5.)

blood platelet

Blood platelets promote blood clotting, forming scabs to protect your skin from
germs. (M/MRIZMEOEEZMRL, 2SR 2/Eo COREEMBE»S5F5.)

tissue fluid

Tissue fluid surrounds cells and provides a means of delivering materials to the cells.
(R THILD H ) Zii7- L, MRS E ZESREARE 2oTn5.)

artery

An artery is a blood vessel that carries blood away from the heart to all parts of the
body. (EYRIZ, /CiEA S KA 2 ESIMETH 5. )

vein

A vein is a blood vessel that carries blood from the body tissues back to the heart.
(HR & X, 250D 5 OICD EAMEAMN A METH 5. )

arterial blood

Arterial blood, which is bright red, is rich in oxygen.

(BIRMLIEEEL 2 2 REE LTBY, BENIEZCEIATNS.)

venous blood

Venous blood, which is dark red, is rich in carbon dioxide and poor in oxygen.
(FIRMIIRT VARG Z LTBY, “RILRFEPZCZENTE Y, BEIID%RV.)
pulmonary circulation

Pulmonary circulation is the circulation of oxygen-depleted blood from the body to

the lungs, and returns oxygenated blood back to the heart. (JfifEBRiZ, BEE % fiviE



177.

178.

179.

(L3R

ek

ik

Giili))

130.

181.

182.

183.

184.

185.

186.

il

Hilhe B

e

i

<«

Gl

Ny

BT RPAEO 20 OIPEFEFRR) A NSRBI 72 ZEHEE R 21

2L 2 GCE Y, €2 TRFEL ZIT o 72l 2 DB~ RS IEERDO Z & TH 5.)
systemic circulation

Systemic circulation is the circulation of oxygenated blood from the heart to the
body, and returns oxygen-depleted blood back to the heart. (AfEBRIZ, BRZEE & f O
WSR2 &Sk, €T THREZHCRL L2 ORI EROZ ETh D, )
liver

The liver has a number of functions, including glycogen storage and detoxication.
(WP, 270 a =7 > o, WalElz L, A 2Rt o Tws.)

kidney

The kidneys filter wastes from the blood and discharge them in urine.

(B M 2 HBERE 2 2 LILY . JRoTICHER$ 5. )

cell

A biological cell is the basic building block of all living things.

(RifEix, $XCTOEEYOIERNLER N TH 5. )

cell nucleus

The cell nucleus contains DNA and RNA.

(HFEDAZIZIEDNA ERNADS ATV 5.)

cytoplasm

Cytoplasm is the substance that fills the cell. It also includes contents except for the
cell nucleus, such as cell membrane, chloroplasts, mitochondria, and vacuole. GHlifiia 2
2 w72 L CWAMETH S, THIIEIBDND D o, HI 2 ITHIREEE, SRRk, 3
P RYT, WRARELED.)

cell membrane

The cell membrane envelops a cell and separates the content of the cell from its
surroundings. GHIREBLIEANIE 2 @A, MBOmEZE ) 2548 Tnb.)

cell wall

A remarkable difference between plant cells and animal cells is that plant cells have a
cell wall while an animal cells do not. (¥ & B OB @0 1D, Hi
VRIS MINERE 2 5 > TV B DX LT, BWMilEF > Twaniw) 2L Ths.)
vacuole

A vacuole is a fluid-filled cavity found only in plant cells. It stores nutrients, water
and the waste. (NI, HYWOMBBIZOAAL NS, WK THI/z SN74ERKOH DT,
BRI, EBEM R ERIKT B S 2o Twa.)

multicellular organism

Multicellular organisms consist of multiple cells.

(ZAlEDE, £ < oM 5o Tn5.)



22

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

H

Getufk

DNA

SR B

G

A PR G

de 2 B

5BF-

T

I W

unicellular organism

An unicellular organism is made up of a single cell. An example of an unicellular
organism is the amoeba. (HififA:M1%, 1 oOMEH» S5 TE TS, HAKAY OB
i, 7AW 5.)

cell division

Cells can grow and multiply by cell division.

(MIfBIER R L, MSRICL > THETE 5.)

chromosome

A chromosome is a threadlike structure found in the cell nucleus. It is a folded DNA,
which carries genes. (J¢faffid, MIEOBENIZH 2 OB IROMBETH 2. Thid#(a
FARFFODNAD, i) 727:Fh72b0TH5.)

DNA

DNA (deoxyribonucleic acid) is a substance that constitutes a chromosome. It has a
double helix structure with base pairs. (DNA (74 F V) KEEER) 1%, Yt kZ Mk
TOMHTHL., THITEHLSEAMEZ L TEY, HEG2RHoTwab.)

gene

A gene is a sequence of base pairs in DNA, in which genetic information is encoded.
(BfaT & 1x, DNAOHO D& Q7= F ) OIFIERSIT, ZOHISRIZTIHROH0A F
nTws.)

reproduction

Reproduction is the process of generating offsprings. There are two types of
reproduction; sexual and asexual. (A &%, THREzWEPLTIETHALH. AT, A
PEARGE & AR O 2 WA D 5. )

sexual reproduction

Sexual reproduction involves two sexes.

(HPEAERIE, HEREDS DD 5. )

asexual reproduction

Asexual reproduction involves only one parent.

(MR L, 1 DOEI ST 2P T TH D)

ovum

In humans, an ovum carries an X chromosome.

(b FoUITI, 120X YetafkziEo.)

sperm

In humans, a sperm carries either an X or Y chromosome.

(e FoMiTIR, 1OoOXHebhkr T, YiROEZED.)

fertilization

Fertilization occurs when the sperm and the egg unite.

(ZHE L T ERFBEHTEIEE0I.)
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fertilized egg

A fertilized egg begins to divide and grows into many cells.

(ZAEIN M 2 2 460, % < OMIIICRES 5.)

embryo

An embryo is an organism in the early stages of development after fertilization.
(B, RO OEKREZH 544K TH 5. )

pollen tube

The pollen tube grows from the stigma and transports sperms cells to the ovule.
(TEREMPHEHO & 2506 MY, KIS ZE5.)

heredity

Heredity is the transmission of genetic characters from one generation to the next.
(EIZL I, BESBEP O FANEMLEDLLILETHD.)

character

The genetic character is an attribute determined by a gene or group of genes.
BEEIE, BETFICIoTREDSTONLHEOZ L THS.)

meiosis

Meiosis is a specialized process of cell division that produces eggs and sperm. During
meiosis, the number of chromosomes is reduced by half. (WE2%, AFEMIEAT
EDLBORK MR TH L. WHSHROMIZ, FEROFII LB TS.)
dominant character

The dominant character appears in the first offspring.

(BEHREL, &1 iRoFic8ing.)

recessive character

The recessive character is masked in the first offspring, but it may appear at any
time in a pedigree. (HHE X, & 1 HAOFIIITHHN L WD, FOH DI TIX
WOTHBNLIREENLSH 5. )

law of dominance

The law of dominance states that if you cross a parent with a dominant character
with a parent with a recessive character, only the dominant character appears in the
first offspring. (BEVEDEANG, BHEOBEZFROB L, HMOBELZFFORE»TH
bEs L, FORTIEROBHZIVEHNLZEEZ W) .)

law of segregation

The law of segregation states that during the formation of reproductive cells
(gametes), pairs of hereditary genes (alleles) are separated and distributed to each
gamete. (7 BEDOER &3, LG (RET) AT E 2 & 313, W% o T @R T G
VMR T) BERENG 2N T I OTOEEMIEICASL ZEE VS .)
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food chain

The food chain is a predator-prey relationship in an ecosystem.

(g e 13, ERRICBTAHARROZLTHS.)

producer

Plants are called “producers” in the food chain.

(%, BEYESHTIE [HEER] LIFEh5.)

consumer

Herbivores are the primary consumers and carnivores are the second consumers.
Omnivores are found both in the second and third levels. (FREEWIZHE 1 HEH, K
BEEWIIE2HEETHY, MAFHWIE2BLOEIHEFTORBIIHONS.)
decomposer

Decomposers are microscopic organisms that break down dead plants and animals.

(DEE G, BRI O LIE S, 3HT5.)
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volcanic product

Volcanic products include lava, volcanic ashes, lappiluses, pumices, volcanic bombs,
and volcanic gases. CKIUMEMWICIL, &, KWK, KILEE, #84a, KibgE Kby
ABEVDHS.)

magma

Magma is molten rock lying below the earth’s surface.

(vrviid, WhihrEsELHBTHATHS.)

lava

Lava is magma that has reached the earth’s surface.

(BHEE, BRIHELIOIETHS.)

igneous rock

Igneous rocks (fire rocks) are formed as molten magma cools and solidifies. They
are grouped into volcanic rocks and plutonic rocks. (K E1E, BIF72~ 7 <HE 2
THEHE-TTES. KBEIIKIE LRBCEICHEEING.)

volcanic rock

Volcanic rocks are formed when magma is cooled rapidly on the surface of the earth
or at shallow underground depths. They include rhyolites, andesites, and basalts. (X
g, 70 ED LA TOERVE ZATRICHREIN/LEITTE S, Kl
I, s, ZilE, KREPHS.)

plutonic rock

Plutonic rocks are formed when magma is cooled down slowly below the surface of
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the earth. They include granites, diorites, and gabbros. (R %1, ¥ 7 A3 TW >
YR EN/LJITTEL, FBHREICE, femes, Pk, huwsdr s s.)
phenocryst

A phenocryst is a relatively large and conspicuous crystal found in a volcanic rock.
BESE, KECEICR OB IBMRE L2 HICRZ A/ TH 5. )

groundmass

The groundmass or the matrix of rock is the fine-grained mass of material
surrounding phenocrysts. (Fi#&ix, HOET DY OMP VK TTEZHH,OI & T
»H5.)

porphyritic texture

Porphyritic texture is a texture of volcanic rocks, which consists of phenocrysts and
groundmass. (BEIRALARIZ, BEMEAE PO L L KINEDDL N THS.)

equigranular texture

Equigranular texture is a texture of plutonic rocks with mineral grains that are
about the same size. (GFRLARAME & 11X, WG ICABNS, RESOBLIZHEL VL
Wh o252 ) THb.)

facies fossil

Facies fossils are the fossils of organisms which inhabited particular environments
such as coral reefs, lakes or sandy beaches. GRAA LA X, ¥ ¥ THER W, PiE & v o 72,
HEORBIAERLZAESYOILATHS.)

index fossil

An index fossil tells us the age of the layer in which it is found.

ORIEALHIE, TN ROD o 2B OERZRT.)

geological age

The geological age is divided into Precambrian era, Paleozoic era, Mesozoic era, and
Cenozoic era. (MBI, &7 7)) 7, AN, PAR, AR 42912K&L<
Xr3hs.)

weathering

Weathering occurs when rocks are broken into smaller pieces by direct contact with
the atmosphere, water, and sunlight. (JEAL/ERIZ, KEARLKRL KGO & T, A4
DL BHPND LI L - TR Z.)

erosion

Erosion occurs when weathered material is blown or washed away by wind and rain.
(REERZ, BALL72WEARLHICT TN EoNETEIZL-TRIS.)
sedimentary rock

Sedimentary rocks are formed when gravel, sand, or clay are deposited as layers and
compressed by the pressure of sediment above. They include mudstone, sandstone,
gravel, limestone, chert, and tuff. (MifE7E1%, Mg & LCHERE L 72 & -1 - 87 &5,
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tuff

A tuff is a kind of sedimentary rock. It is formed when volcanic ash is deposited and
compressed. (BEIKFIZHER GO~ TH 5. BIK AT KIKHDHERE L7720 B I2HEHi X
NCTT&%.)

metamorphic rock

Metamorphic rocks are formed when existing rocks, whether they be igneous rocks
or sedimentary rocks, are transformed by intense heat and pressure. (ZR % & 13,
KiaThHhRaTHN, BIROSaPEBEEIOERIC L > TELLTTE %
bOTh%.)

hypocenter

The hypocenter is the underground location where the earthquake energy is first
released. It is where the rock begins to crack. (B &iE, T CTHEO T AN F—H3
B SNDETH L. EIhLa0BAENHBINSG.)

epicenter

The epicenter is the location on the surface of the earth straight above the
hypocenter. (FEHix, BIFOHE EIZHh M EOMEOZ L2 ) .)

preliminary tremors

P waves (longitudinal wave) causes the preliminary tremors.

(P (HEde) 25, Mm@ zd7257.)

main shock

S waves (traverse wave) causes the main shock.

(S (BEk) 25, FEHZL-567.)

duration of preliminary tremors

Hypocentral distance is estimated from the duration of preliminary tremors.
CRIGIEAE I, a2 SHE S 5.)

seismic intensity

Various seismic scales are used to represent the local seismic intensity. Shindo scale
is used in Japan and Taiwan. (HSHEATOMBOBRE ZEXITREIZIE, WANVAL
bONHsH. [EE] Ar—NViZAREGETHLNTVS.)

magnitude (Richter scale)

Magnitude is a logarithmic scale to indicate the amount of earthquake energy. One
magnitude difference corresponds to about 31 times of energy. (%27 =9 2 — KiZith
BOTANF -2 RITHBIEET, ¥~ 7=F2—F21E) &, A VF—13H31UEIC
5. )

fault

The magnitude 9 earthquake off Sumatra in 2004 ruptured a 1,200 km long fault
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along the Indo-Australian and Eurasian Plate boundary.(20044E D A< b 7 FifHizE (M
9) T AYFA—AMFYTTL—bE, 2=F 7 7L — BRI T, 1,200
kmDWEATE 7))

active fault

The Great Hanshin earthquake occurred along active faults.

(Foph s KRR IX, 1EWTRE IS - TR-Z 5 72.)

plate

There are at least over ten plates on the earth, but the exact number is unknown.
(HER E13 D% E D10 ED T L — b 23D 575, HEPREIEIGH > Twirv,)

fog

Fog is water vapor suspended in the air near the ground.

(FE1%, I OEFFITFEPATVRDLRERTH S, )

cloud

A cloud is a mass of droplets of water or ice suspended in the atmosphere.
(ZERAPIFELRKRKDOWHTH 5. )

precipitation

Precipitation includes rain, sleet, hail, snow and other forms of water falling from the
sky. ([BEAK] 121X, W, AZFh, doh, F, TOMOEET, ZrolkEoTL HK
DZEEV).)

dew point

At a dew point, the water vapor in the air becomes saturated and condensation
begins. (TR TIX, 2R OKRBLADRAIREIEL, HBEIHBTS.)

saturated water vapor

Saturated water vapor is the maximum amount of water vapor that air can hold at a
given combination of pressure and temperature. (BIfI/KZEREIL, H D 5T & XmD
0B ET, REPELILDTELIRROKEADRDOZILETHS.)

humidity

Humidity is the ratio of water vapor in the air to the saturated water vapor.
EE&1E, AUKAEREICN TS, ZRPOKEREDOEETHS.)

isobar

An isobar is a line on a map connecting points of equal air pressure.

(GEIEM L3, WM ETREDE L W 2 A TH 5. )

high pressure area

When cold air sinks, it creates a high pressure area.

(W72 WELRDSTHRL TS E, BRIEFELS.)

low pressure area
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The hot air over the ocean rises and creates a low pressure area, causing a breeze to
blow from land to ocean. (i FOBEDWZEL D L5 L, AL AT, BEXDS
)70 ) A Z 5. )

air mass

An air mass is a large body of air with uniform characteristics of temperature,
atmospheric pressure, and humidity. (5 &%, FEROWEE, KE, @BEZ o 72,
ZRRONTENTH D)

front

A weather front is a boundary separating two different air masses.

(Hi#t L 1E, 22o00RL2AHOBERMRTH5.)

stationary front

A stationary front is a non-moving boundary between a cold front and a warm front.
(Eermiatid, MR S IRBERTRROMICTE 5, BEIL2VHEIHROZ L THS.)
cold front

A cold front is the boundary of a cold air mass pushing into a warm air mass.
(FEraRiE, BRI 2 Lo TG EKBIOTRO Z L THh 5. )

warm front

A warm front advances over a cold air mass.

(RBERT#IE, EEAFO LICEW»RE 2 X9 2L CHED.)

occluded front

An occluded front is formed when a cold front overtakes a warm front.

(PZETTMAE, FEmHTR D IRBE TR IS B VDO Wz L 2 TE5.)

fixed star

A fixed star is a star that shines all by itself like the sun and does not move in
relation to the other stars of the night sky. (HE X, KO X I ICHOH AT, &
TR L DREZERGZVEDOIETHD.)

sun

The sun is at the center of the solar system.

(KBsix, KbRoHiidh 5. )

sunspot

Sunspots are cooler and darker spots that appear periodically on the sun’s surface.
(KPR, KBEOEXmIZIHL, THY L) BIREOKR:, OBV EGTHS.)
prominence

A prominence is an explosion of hot gas that erupts from the sun's surface.

(Fa Ik rREid, KEOEKE»OEESIMTEHATADBETHS.)

corona
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The corona is the outer atmosphere of the sun with the temperature of over 1 million
degrees Celsius. (2T i, KEGOYMIDOKRZADRE T, WEIZ1005CLEDS.)
sun’s period of rotation

The sun’s period of rotation is about 27 days.

(KBGO HisfAM, BXZ2THTH 5. )

celestial sphere

The celestial sphere is an imaginary sphere on which celestial bodies appear to be
projected. (KEK& 1, RADIHEINL LR ZS, MG LKoo L THAS.)
celestial north pole

The celestial north pole is the imaginary point in the sky where the earth’s axis of
rotation intersects the celestial sphere. The entire sky appears to revolve around
it. CRodufiix, e RERAZLE DL HTH L. RIEKIZ, ROz f.iili-Twa
FIHITHRZ%.)

zenith

The zenith, or the vertical point, is the point directly above the observer on the
celestial sphere. The opposite of the zenith is the nadir. (RJEIX, BIIZEOE FEOXK
REOROZETHL, FOHERIEE VD)

meridian

A local meridian, or an observer s meridian, is the imaginary line from north to south
passing through the zenith. (FF#E& &, BUZEOEIL, KIE HEHEZ2HER, MGk
DITH 5. )

prime meridian

The prime meridian, or the Greenwich Meridian, is the line of longitude that runs
through Greenwich (0 degrees). (KFTFH (F) =y V) &k, 7V=v¥
WL (BEXD) o2 LThsb.)

culmination

The culmination is the time when the sun passes the observer’s meridian.

(B &, Kz dEsd skMoZ e Ths.)

culmination altitude

The culmination altitude in summer is higher than in winter.

(KB O EERE, £AX)DEOHPEL%5.)

axis of the earth

The axis of the earth tilts 23°40" away from a perpendicular to the earth’s orbit.
(b, HERO AWM E 280 LT, 234 MWTw5.)

rotation of the earth

It takes the earth 24 hours to make a complete rotation on its axis. The earth rotates
towards the east. (MERASHUBIO T Y % 1 I Hfn3 % DIZ24K¢ 222 % . HERIZH A7)
7o THELTW.)
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diurnal motion of the sun

Diurnal motion of the sun is the apparent daily motion of the sun around the earth,
which is due to the earth’s rotation. (KFz® HJE#EE) L, HWIEKOBKIZKL > THEL S,
KGO 1HOADPFOBEDZ L THS.)

revolution of the Earth

It takes the earth 365 days to make a complete revolution around the sun. The earth
revolves counter-clockwise when viewed from the north pole of the sun. (MERAYKFG
DY 2 1T 5012, 365H 5. HEKIE, KEodutas o W76, Kate SO
O IZRELTW5.)

annual motion of constellations

Constellations appear to move around the celestial sphere over the year. This
phenomenon, known as the annual motion of constellations, is caused by the
revolution of the earth around the sun. (ML, REkZ 1ELT TS L HICHZ 5.
ST RIEDESEE) L IFIEN, WERORXRICL S TELS.)

annual motion of the sun

The annual motion of the sun is the sun's passing through constellations.

(KB O EB & 13, REOHZBIT L, KGO 1EOBHEOILEW).)
ecliptic

The apparent path of the sun on the celestial sphere is called the ecliptic.
(UEFEEBNC BT %) REREOKBGOADPITOMY HEOZ & % HiE L IER.)

solar system

The solar system is made up of the sun, the eight planets and their moons, asteroids,
comets, dust and gas. (KGR, Kbk 8 ODDEEBIVOENSDOH, /NkE, #HE
EEBLUTANDR5.)

planet

The eight planets are: Mercury, Venus, Earth, Mars, Jupiter, Saturn, Uranus, and
Neptune. (8 #&&E &%, KE, &, ¥k K&, KE, 1A KEE BEREOZL
Th5.)

light-year

One light-year is about 9.5 trillion kilometers.

(1B, BLZISKFTA— PV THS.)

apparent magnitude

The apparent magnitude is a measure of the brightness of a celestial body as seen by
an observer on the earth. A star of the first magnitude is 100 times brighter than a
star of the sixth magnitude. (HE D APF DY 5 1%, Bk 5 B2 S TSN 5.
13RLE, 6 5FED100658] 5\, )

absolute magnitude

The absolute magnitude is the scale of a celestial body's intrinsic brightness.
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(KX SIS, RIEOAROW B SORETH 5.)

Galaxy

The Galaxy is the collection of star systems to which the solar system belongs.
BUTR L, KEREZECHFTOZ L TH5.)

galaxy

A galaxy is a collection of star systems, which is also called a microcosm.

Fumeix, HREROEFVTHY, MPHEDITENS.)

solar eclipse

A solar eclipse occurs when the moon passes between the sun and the earth, so that
the sun is fully or partially covered. (H#i%, H2VKF & MEROBIC A>T, KD
HA L E 72T INES WD 2 LIZL o TR Z.)

lunar eclipse

A lunar eclipse occurs when the moon passes behind the earth, so that the earth
blocks the sun’s rays from reaching the moon. (1%, H 2Bk HE A 12H A Z & T,
HWERASKBE & AORIZAY, KBOXBHICL EL0EPIFLIEIE> TR S.)



32 A WK

—ig 2% (Academic Word List) (570zE

] Group 1
1. analyze (Bh] ~250W9 5 - ~2f@FN9 % ([3] analyse)
J8: 3000 The police analyzed the fingerprints obtained from the glass.

(5L, FIADPBELNIARWE S LT2.)
2. approach (%] BUGHLA - WFgehE: - T (8] ~cHad 5

J8&: 1000 The book is about a scientific approach to language learning.
(ORI, SHFEICHFNIWY MO TEIODWTEHEIrNLDLOTH S, )
3. area (4] 5 - w3 - A
J8&: 1000 Dr. Takahashi is an expert in the area of robotics.
(EfEHE, vRy P TROSHOZF A - TH 5. )
4. assess (8] ~%FFfid 5 - ~%2&ET 5
J8&: 4000 We need to assess the damage caused by the earthquake.
(WRICL o THELLBELREET 2LENDHS.)
5. assume [B] ~LHEWT 5 - ~eMET S - G &#lARE%E) #H9
J8&: 2000 Let us assume that global warming would continue at the present pace.

(HbERIEIE LS, BIEDOR— A THET A EMREL LD .)
6. authority (%] MeR - HERR - 24)5)

J8: 2000 Professor Yamanaka is one of the leading authorities in genetic engineering.
(I, BEFLEOREN RO —ANTH 5.)
7. available DE] FIHWREZ « FITAS
J8: 2000 There was not enough vaccine available for the new flu.
BA YT NVZ DT 7 F 2 BRGTAZABIREI b o72.)
8. benefit (4] Fids - Flsd (8] AR5 - ~O72DIl% 5
J8&: 2000 Wine is believed to have many health benefits.
(T4 21d, BECEOMADPDHLEEZLNTNS.)
9. concept (%] BEe - fEAR
J8&: 2000 People have various concepts of freedom.
(THHL 122w Tk, AENENEZ DD %.)
10. consist (] (~25) Wb - (~»5) MEINhs (of
J8&: 2000 The US Supreme Court consists of nine justices.

CREREFS R EHTE, 9ZOFHETHRINTn5.)
11. constitute (B)] ~2Wld 5 - ~OfREZELD

J8&: 4000 Male students constitute the majority in this college.
(ZORFETIE, BAEEIRPEEZHEDL.)
12. context [44] SCIR - it B AR
J8&: 2000 We can guess the meaning of a word from its context.

(B7zbid, FEOERE ZOXRPSHM S22 LD TE5.)
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

contract

J&: 2000

create

J&: 1000

data
J8&: 2000

define
J8: 2000

derive

J8: 4000

distribute
J8: 4000

economy

J&: 2000

environment
J8&: 1000

establish
J8&: 2000

estimate

J8: 2000

evident

J8: 4000

export
J8: 2000

factor

HTRPAEO 2D OIGFRRSG) A DRGEIZINT 7 APEE R

(%] 24 [#B)] 2035 - #6032 [E] GEKI) 252 - (FiADY) DT 5
The temporary worker has to renew his contract every year.

(Z DIREITIHE N, EEIR 2T L 2T e 5%2w,)

()] ~Z28ET % - ~2/E) ¥

The singer has created a new style of pop music.

(ZOHFE, HLVAZAVORY 7 - 32—V 7 ZAEL.)

(%] 7—2% - &8 Rk

You should backup the data of your computer regularly.
(Av¥a—yo7r—5id, BHWHINY 7Ty TTREZ)

[(By] ~%EF:KT 5 - ~OEKREZWAMHIZT S

Define some keywords at the beginning of your presentation.
(FLEYT=2arDiELdil, F—T7—FOWLOPEERLEI V)
()] (~»5) KET S - (~12) HkT S (from) [fk] ~%2Hil$2
(%] (B%z) #EL<

The word “serendipity” derives from Serendib (an old name for Sri Lanka) .
TV yFAET A=W FEL €LY T4 7 (R 5 Y ADIHSK) HHRTH
(] ~%Z 0BT 5 - ~ZMEIES

Food and clothes were distributed for the refugees.
(HERD72012, R KRDER S niz)

(4] #E - B - HiRY

The Lehman shock had a great impact on the world economy.
(W==vvavzi HRORFIIKERITREL527:.)

(4] BR5E - 6%

We need to improve our work environment.

(BB G E L 2T E e b \w.)

[B)] ~%2f& V35 - ~%$THTh

Albert Einstein established the theory of relativity.

(TVRVE - T4 vyas g, MR ZITH TR

(B ~%zET s - ~2R/MEb 2 [4] e - AEd Y

We estimated the chance of failure to be 20%.

(B7=b i3, RUOWREMEZ20% & WA d - 72.)

E] MSH7% - IRROWEA %

It was evident that the data was wrong.

(ZOTF =25 THHZ LIL, HoNEs7z)

(] ~zd@ihd 2 [%] &l

The company exports electric appliances all over the world.
(Zosttid, R ERGZEE L Tw5.)

(%] %W - Wy (8] W (X2) WE % %
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26.

27.

28.

29.

30.

31

32.

33.

34.

35.

36.

37.

J8: 2000

finance

J8: 4000

formula

J&: 4000

function

J&: 2000

identify
J8: 2000

income

J&: 2000

indicate

J8: 2000

individual

J&: 1000

interpret

J&: 2000

involve

J&: 1000

issue
J8&: 1000

labor

J&: 2000

legal
J8: 2000

I W

Smoking is one of the risk factors to cause cancer.

(Bpiix, 725 SEISTEREROVLEDOTHS.)
[44] WE - &R (3] ~ICHET 5

He learned finance and management in graduate school.

(PiE, RFRETHEEREZFAL)

(4] X - 2 - eF )30y (# : formulas - formulae)

This formula does not help solve the equation.

(ConRiz, 2OTRREM DITHLIZ.)

(4] #ne (B3] BEeed 2 (%] B%

Recent cellphones have so many functions.

(RO B IZFF I LR TH 5. )

(#)] (Bcz) WEd5 - ~&2HfHETS

The police identified the suspect from a security camera footage.
(BHIL, £F2) 74— X T 1TWo 2WG» 5, BREEZREL)
(4] DA - Pt

The government lowered the income tax for middle-income households.
(BOFIE, WA PSR OB 2 R S L7z, )

[(B)] ~ZRd - ~ZWRT 2

The data indicates that the economy is slowing down.
(F—=%1d, REPEWHLTEZILERLTWS.)

E] Ao - e [44] A

The processing time of visa depends on each individual case.
(EF IR0 LM, 4 0%E128 %)

(] ~%#EiRT 5 - ~Z T 5

The robot interprets human language and interacts with people.
(Zouxy M, ANHOFEZHRLT, ANIKET5.)

(B)] ~%2&0 - ~2BEAL

Thirty-four people were involved in the train accident.

(34475, FIHHEHISE S AT NTz)

(] W - % -5 [B)] ~%2%175 %

I am interested in political issues.

ME, BuRHEICE O H 5.

(%] 5718 [BE] e - 0% ([3%] labour)

Raising children is a hard labor.

THTE, EHHTH5.

DB #:dto - Gk 7%

The lawyer will give you legal advice.

(FRELD, HRIENLZHFEZLTNETLE).)
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38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

HTRPAEO 2D OIGFRRSG) A DRGEIZINT 7 APEE R

legislate (#)] ~ZgAbd % - (%) HlET 5

J8: Hxx The state legislated an anti-smoking law.
(ZDIMIE, B2 S E72.)
major D] E%% - K&z [(H)] ~28%35 (n) (4] H5eed [BH] BF
J&: 1000 I think we are on the verge of a major climate change.
(Fxid, REBEABEFLZLUREIHIELTVLERS.)
method (%] Jidk - Tk - 3k
J8&: 1000 The crime scene was investigated using scientific methods.
QEATBIE, B R ke o Tk S hi.)
occur [#)] 22 4L
J8: 1000 Accidents do occur from time to time.
(FlE, BELTRIZH072.)
percent (%] =t b - \AHHE - HE
J8&: 4000 As a matter of law, you are a hundred percent correct.
(B, H72721310075—1 ~ PIELW.)
period (%] IR - R - ARy (B 93/
J8&: 6000 Adolescence is a difficult period in life.
(B&EME, NMEoOPTHLVWIITSHS.)
policy (4] Bk - Jist [E] (BRBro) GE%
J8&: 2000 Our company policy does not allow any legal documents to be taken out.

(b2t Jst T, HENRCEORHLI LIZEEIhTns.)
principle (%] BEEE - A - A% - 3%

J8&: 2000 A market is driven by the economic principle of supply and demand.
(i, HEREMHROMHBEIHIZE > TELAEINS.)

proceed (B] #E - HAT55  [£A] PEs

J8&: 3000 Let's proceed to the next step.
RDOAT v T~HEDH D)

process (%] 7otz - @t (B ~Z208T5 - ~Z2IN1L35

J8: 1000 The screening process took a long time.
GRZ OB, RHERM»»o7)

require ()] ~2ZRKTD - ~2LEBETS

J8&: 1000 You are required to sign this document.

(B721E, COEFHICEXRTLLEXRDHY )
research (%] g - S (B ~zWf%e3 5 - ~&2R&3 5

J8&: 1000 My brother is doing research on nanotechnology.
(BDYZ, F /7572 / 0y -0z LTwET.)

respond (E] 2% - (~12) e 5 (to)

J8&: 2000 I called the shop, but no one responded.
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(ZOEICEIE LD, ERBEZeholz)
51. role (4] 1 - L8
J8&: 1000 My sister played a leading role in the musical.
(RO, ZDI 2=V ANTEEREHEL.)
52. section (%] &5 - Wrm - S [(#)] ~%2 X592 [E] ~%20kd 5
J8&: 2000 The slide shows the cross section of the cell wall.
(ZDA T4 Fi&, MIBEEORRTHI 2R L TW5.)
53. sector (%] &6 - 0% (%] BB
J8: 4000 A hacker attacked the financial sector of our company.
Ny =285, FAxAOXITOMBIM 2 RHEL7-.)
54. significant (] EEL - Z2&Z0dH5H  [#] Rt a5%
J8&: 3000 There was a significant difference in the test result.
(72 bORER, HREAEVPRON)
55. similar DE] (~&) Wk - (~12) K< (o) [#] Mo
J8: 1000 Mars has several characteristics similar to planet Earth.
CREICE, R XS H 2. )
56. source (%] U5 - 1EHIE
J8&: 1000 Clarifying the source of information is very important in scientific studies.
(HHREZH SR 2 &E, RHAIRICB VW TEHEETHS.)
57. specific UF] $eeo - M7z [(44] sk (&) - Wl ()
J8&: 2000 It will be effective to learn English for specific purposes.
FEOHMO DI HFHEZ LRI L&, RS .)
58. structure (%] fE [B)] ~Z2MALTSD
J8: 2000 You will learn the molecular structure of various carbon compounds in chemistry.
(LA TIE, BRAx RIRFALEWODFHEE L FR1EH9.)
59. theory (%] PEw - 2l
J8&: 1000 Nash's game theory has influenced global trade negotiations.
(Fvvanld—riWGmE, HROES LB R 272.)
60. vary (] bbb - ZLT 5
J8: 2000 Climate varies from region to region.
G X > TRR 5.)
’ Group 2
61. achieve ()] ~%ERT S - ~%2FEHT5
J8&: 1000 Little has been achieved in this peace agreement.
(ZOFHBETIE, BLALRICHER SN 572.)
62. acquire [B)] ~%2815 - R 2 - (RERE) 2HT 2
J8: 2000 Children are able to acquire language so quickly.



63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

administer

affect
J8&: 1000

appropriate
J8&: 2000

aspect

J&: 2000

assist

J8: 3000

category
J8: 4000

chapter
J8: 4000

commission
J8&: 4000

community
J8&: 1000

complex
J8: 2000

compute

J8: 6000

conclude
J8: 3000

conduct

HTRFEE D7D OPEFEFERL Y A D HEIZ AT 72 R R 37

(FHE, SHEEETLONETHIERRV.)
(B)] ~z2EWT2 - ~2EET2 (K] &) 2&5T2
This software enables you to administer your database.
(ZOVT =T &ML, T— s R—ADMHEICERTE ET.)

[(B] ~SEET D - ~IMEHT 5

The prime minister’s decision will affect the course of our lives.
(BHoPEE, LA DIFROEFITEEEZG5257259.)

DE) #il7% - S8bLw [B)] ~Z2K4T 5 - ~ZHHT S

It is not appropriate to wear T-shirts even at an informal party.

(AT H=NGNRN=F4—=Tb, TYvV&ELDINHY.)

(44 ] B0 - SR - ARAH

This test will assess different aspects of personality.

(o7 A M, koA 2z WET 5.)

(8] ~Z2HEBT2 - ~2Hibhd5

Can you assist me with this question?

(CoOMEZR D%, FlroT b ?)

(%] A7) — - 55

PCs are divided into three categories: desktops, laptops, and palmtops.
(SVAYETFAZ LY T, T Ty T, N=h by TO3INTT) =T bN5.)
(441 & - GRRkD)

The Japanese Constitution has eleven chapters.
(HAREZEZRZINELO25.)

(4] Z&t - (] (N -2 -~ 32HEE252% - BZHET 2

The fair trade commission is enforcing the antimonopoly law.
(RIERGIZRES, MbEIEEZ KTl Tn5.)

(4] Huddikhss - JL ik

The role of local communities is increasing in various aspects of our lives.
(it X D ED, Fx DETEORk A ZIETHEMLTW5.)

DBl #E7%  [(4] Hatk

The problem is too complex to solve.

(ZoREIE, BT ETHIZV.)

(] ~%2E5HT5 - ~%2H TS

Supercomputers can compute missile trajectories.
(A—=X—arVCa—%1F, IFAVOBELHETLILNTEXL,)
[(B] Kamz iy - #®b5b

The investigators have concluded that the incident was a terrorist attack.
(AEYIE, FFEETaVAMNILEbDTHDL EfmLT:.)

[(#] ~28HL - ~Z2RE855 - ~%17) (%] 1748

([#¥%] administrate)

=t
TR
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[#] CEH - A—F7 A% L%) BT
J8&: 2000 The company conducted a research on the employees productivity.
(Zoathid, EERDEEEICOWTHEEZIT-72.)
76. consequent  [B] #RE L TRXZ - LARNE [HA] &R

J8&: 6000 We need to prevent an oil spill and the consequent damage to wildlife.
(Fxid, Aoite, ThIZE o TH SR SN HEBHYA~OHE 2 P CLED
»5.)
77. construct (B)] ~%2@HET 5 - ~ZHMALTS
J8&: 3000 The first pyramids were constructed about 4,500 years ago.

BT 3 v Fid, #4500FERICETHNT:.)
78. consume (Bh)] ~=HET 5 - ~Z{HET S

J8&: 5000 Refrigerators consume the most electricity of all appliances.
(R, BALREMOPTRLBZ L OEAEZHET S.)
79. credit (%] Dt - B [(#)] ~oUEzRos  [#] o) B (2] 85
J8: 2000 You did a good job. You deserve the credit.
(BlxIRo7. BoOYER.)
80. culture (%] b - B[] 552 - BiEd %
J8&: 1000 We should learn more about our own culture.
(B7zb1d, bo L HALOLIIO W THERRE )
81. design (4] B&at - 794 >~ [B)] &G 5 - BT S
J8&: 1000 How do you like the design of the new hybrid car?
FHLONA Ty RH=DFFAL Y2 EH ) ?)
82. distinct DE] W% - Kpold-& ) L7
J8&: 4000 Japan has four distinct seasons.
(HAIZIE, WIHEZR MDD 5. )
83. element (%] %3 - Wior [ - Ak] ¥
J8&: 2000 Water consists of two elements: hydrogen and oxygen.
(KIZKFEEBED 2ODTENPLTETNS.)
84. equate [B)] ~2FE L WwEARLRT - ~LA—HT S
J8: Hxx I don’t think we can equate happiness with wealth.
(FME, FEPEEEFELVDDOALES LIXRIERW.)
85. evaluate [(B)] ~%2&ET 5 - ~%iFliT 5
J8&: 4000 The government evaluated the damage caused by the earthquake.
(BUffix, Rk agEadelz.)
86. feature (2] ¥ (B3] ~284%ET5
J8&: 2000 Each planet has its own unique feature.
(ZNZhOZEITIL, MR 5.)
87. final [E] & [4] Jubik



88.

89.

90.

91.

92.

93.

9.

95.

96.

97.

98.

99.

J&: 1000

focus

J8: 2000

impact
J8: 2000

injure

J&: 3000

institute

J&: 4000

invest

J&: 4000

item

J8: 2000

journal

J8: 4000

maintain

J&: 2000

normal

J&: 1000

obtain
J8: 2000

participate

J&: 3000

perceive

J8: 3000

BT RPAEO 20 OIPEFEFRR) A NSRBI 72 ZEHEE R 39

How did you do with the final exam?

(kBRI L) 72572 7)

[Bh] (~12) £z E6bE5 (on) [#] s (B focuses - foci)
Let’s focus on the problem at hand.
(HomOMEICEREZHTE )

(4] it - 2% [H)] ~ITHE2 525

Oil crisis had a great impact on the world economy.

Az a v 7, HREFICREeHmEL /26 1L7)

[(B)] ~cBEEESED - ~%2HOT5

Fortunately, no one was injured in the car accident.

GEWZRZ LI, ZOHABEHGETIIHS ERE Leho7z)
(%] BEHE - BEZERT - (BLTR0) Ke [#)] ~z2HlEdT s - ~2 T2
I work for the National Institute for Materials Science.

(BAZ, OZATBOEANWE - MR e TEIVW T E9.)

[(B)] ~2H%&ET5 - (B Kl -5l t) S

We invest a lot of money in education and healthcare.
(Fh7zB1d, HH L BIEHICZDBEEHEL TV5.)
(%] HH - 8

Our next item on the agenda is employment.

(Ro#EEx, EHEETT.)

(%] E8TATY - HEE

Dr. Tanaka announced his discovery in the Journal of Biochemistry
(HHE, 1hoFRE, N4+ 7 IA M) —GETHRELL.)
[(B] ~%HFFT 2 - ~%2TRT S

It is important to maintain work life balance.

(L BTN T ¥ AR MRS 5 2 EDVKE72)

DB] IE% 7% - o [B]

Your blood pressure is normal.

(BA7-0MEE, EHTT.)

[(B)] ~2FICAND - ~%H/RT 5

You can obtain further information from our website.

(XHICFH LV, F—2R=YUnoB2Ie0TEET.)
[(#] (~12) ¥ % - (~12) S35 (in)

We are planning to participate in the robotics contest this year.
(Fh7=B1E, G4 EOTRY bV F A MIBINT S FETT.)
()] ~2HET 5 - ~2HRT S

I could not perceive the difference between the two noise levels.
(22D 4 XAV RXVDENE, HIHETHIENTESLho72)
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100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

11

112.

positive
J8: 2000

potential

J&: 2000

previous
J8: 2000

primary

J8: 4000

purchase

J8: 2000

range

J8&: 2000

region

J&: 2000

regulate
J8: 4000

relevant

J&: 4000

reside

J&: 6000

resource

J&: 1000

restrict

J8: 4000

secure

J8: 4000

I W

DE] BEmz - fimm s [E] BES (+) o - B

The new economic policy got a positive reaction from the public.
(BT LWEHEBORIE, RO Z SOS & f572.)

(%] waetk: (W] o [#E] &

There is no limit to the human potential.

(NBEOWRRES, BAIE )

DE] o> - Hio - Lo

I have a previous engagement.

(B2, s h £9.)

D] &R0 - T%% - i [B] Pz

Customer satisfaction is our primary concern.

(HEF DS, A DHE 1 OBLFZ.)

(%] WA - HoZzbo [H] ~%2WATS -

If you find any defect in your purchase, please contact us immediately.
(b LRI DRERTENE Lzs, §CICTEK LIV
(44] #EpH - fH3E - 08 (8] 0435 - I5A55  [H] 1UPR (mountain range)
Ultrasound is outside the range of human hearing.

(BEWIE, AMAPMZZ2HAZBLTNA.)

(%] Hbdg - w3

There is a variety of wild life in this region.
(ZOMIITIE, ZFE R EBWAS.)

()] ~zEET 2 - ~2HHT 2%

Your heart has four valves to regulate the flow of blood.
LI, Mik%E T 5420070 H 5. )

D] DD 5 - 4 HBZREREZW TV D

I have a relevant question about the subject.

(ZOFEEICHE L2282 £9.)

[(B] £t - 7125 5

The writer resides in the rural area.

(ZDERE, HEIMEATNS.)

(4] & - 54 - ZH

We should take every measure to preserve natural resources.
(RGFERAET H2FLTE, BTRETREZ)

[B] ~%ZHIRT 5 - ~%2EET 5

Freedom of speech is restricted in some countries.

(WL ORDETIE, SwoHBPHBRIhTwS.)

(8] ~ZMERT 2 - ~ZRIET 2 DE] R4k - 5%

The new party secured the majority seats.
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(ZOF LVBGER, @B 2Rl 7.)
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113. seek ()] ~%28HT - ~%BKT2
J8&: 2000 The employment office is filled with people seeking jobs.
(WM, HFZRTATHSEN T S.)
114. select ()] ~%zES DBl MLz - 2 W&o
J8&: 2000 The samples were randomly selected from the first year students.
(BEARIL, 1AEE2SEEL T I Nz
15, site (] Y (B8] ~O%iz it b
J8&: 2000 Don't go close to the construction site.
(FEZRBI O AT TRWITEEAL)
116. strategy (%] HRm& - Fig
J8&: 2000 The company reviewed its financial strategy.
(To3E, Wkl z B L)
117. survey (%] g [#)] ~2WET 5
J8&: 2000 The unemployment rate is increasing according to the latest survey.
(L OFRAIT L B &, FERPHML T 5.)
118. text (4] 7% A b - 30 - B [#H)] HEETEFT) A—Vvedo
J8&: 2000 We should go to original texts for reference.
(LHZEZHT 551201, dEOTFAMNIHILERET)
119. tradition (4] 1o - Bb L
J8: 2000 The organization helps preserve the culture and tradition of the area.
(ZORMRE, IO L L Eitz /ES 2 FHIT2 L Tw5.)
120. transfer (] (~%) BE)TS - (~%) EO#R 2 [H] BEH - B - @E
J8&: 3000 The patient was transferred to the intensive care unit.
(ZoEFE, FhEkE=E (ICU) ITBshl.)
] Group 3
121. alternative DE] by o [4] R
J8&: 2000 We must find alternative energy to replace fossil fuels.
CAMMBREHIR D D Z AN F =2 WO 2T I b %\w.)
122. circumstance [£] IKPL - FH
J8&: 2000 Never give up hope under any circumstances.
(EABIRRIZH-TH, MEEZH/ETHRNI L)
123. comment (] BREZAEXZ [f] BH
J8: 2000 The panel commented on the effect of global warming on economy.
(XA A ME, HEREPRIEATEF IS D 725 T RBII OV TR A 2R~z
124. compensate [By] (JHEZREIIHLT) FET S - #ifE5 5 (for)
J8: 5000 The court ordered the defendant to compensate for the losses.
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125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

component

J&: 4000

consent

J&: 4000

considerable
J8: 4000

constant

J&: 2000

constrain

J&: 6000

contribute

J8: 2000

convene

J8: 8000

coordinate

J8&: 4000

core

J8: 4000

corporate

J8: 4000

correspond
J8: 3000

criteria

J&: 4000

A WK

(BHPTIE, s MRS LTRET L2 L9 1cat7z.)

(4] MERCEESE - oy

We measured the voltage across all the components of the electric circuit.
(BA72H1E, ZOERAMEED T TOMBIRMIC 2L EEEZ - 72.)
(4] W& - & [(B)] FET2 - KiET 5

Doctors need to obtain the patient’s consent prior to surgery.
(EHEFMEZT L0012, BEOHBEELERIFELSR.)

(] 7)o - Y%

A considerable amount of food is being wasted in Japan.

(AT, 2% ) OROEYHDMELIIFEREINTNS.)

(B] —&o - Ao [#] #%

The temperature remains constant during melting and boiling.

(B L TV AHBIOWEL TV B, EER—EICRzN5S.)

(8] ~Z2HHT 2 - ~Z2H T2

A larger effort is needed to constrain the emission of greenhouse gasses.
(RBRREA ZAOPE 2 W T 572012, b o L RELRENHFLET)

[(B] (~12) H"HEKT % - (~12) F57 2% (to)

Vaccines have contributed to the improvement of public health worldwide.
(727 F &, WRBORREEDOLEICHL72.)

[(By] ~%FlfET 5 - ~%2HET S

The conference is convened to discuss environmental issues.
BREEMEIZOWTEH LA ) 2012, [EsH»rn)

[(B)] ~%W#T 2 (~&) T2 (with) [#] F#EEE

Our overseas staff will coordinate your business schedule while you are there.
(2 DWHAY v TH, DRIEVELHICVEHMOEIRARAT Va— Vil F
3.)

(4] #% - &

The core of the earth has two layers: solid inner core and liquid outer core.
(WIROMIZIZ 20D H 5. FEONEE, WIROIMETH %)

[E] k0 - AD

Corporate culture plays an important role in the growth of enterprises.
(s, FHEOWINCEE L EEHERIZLTWD.)

(] —FT2 - @8ET

The experimental results almost correspond with our simulation.
(EBRERE, ReDYIal—varbiFbAl—%LTw3.)

[44] Hkdk - REE (B @ criterion)

What are the criteria for pandemics?

(9 2 WA BYUAT & 5 2 P AL 8 13T T2 )



137.

133.

139.

140.

141.

142.

143.

144.

145.

146.

147.

143.

149.

deduce

demonstrate

J&: 3000

document

J8: 3000

dominate

J8: 4000

emphasis

J8: 3000

ensure

J8&: 4000

exclude
J8: 4000

framework

J&: 4000

fund
J8: 2000

illustrate

J&: 3000

immigrate

imply
J8: 4000

initial

J8: 3000

HTRPAEO 2D OIGFRRSG) A DRGEIZINT 7 APEE R

(#)] ~ziiwd 2 - ~2WHET S

You can deduce a conclusion from given premises.
(G2 5NHifer S, MmziE#EssZ el TEETd.)
()] ~ZFEHT L - ~ZFEIET 5

Let me demonstrate how the machine works.
(COBMWAED I HIZE < DR, FEHLEL LD .)
(4] &8 - 0l [B)] ~25sd 5%

You need an official document to use this facility.
(ol =T 5121k, ARNOFHILETT.)
(] ~%2Z/T 5 - ~%2 56T 5

Japanese animation dominates the market world over.
(HRDO7 =X = a v, HROWEZERLTwAS.)
(%] 5 - ExL (# © emphases)

The new law put an emphasis on the role of moral education.
(Fr LW iEfg, EMBCE sl 2 @i L7z.)

[(B] ~%ZRIET B - ~ZFEFEICT S

It is the manufacture’s responsibility to ensure the the safety of its products.

(BB ORRERIET 2 DI, A—H—DFIL2.)

[(B)] ~Z2HEks - ~Z A5 2

Certain high schools were excluded from the tuition-free program.
(FFEDESFFRD, BERRRT T 77 A0 6P R3In.)

[%4] Fedld - FEAH

Multinational disputes should be settled within the UN security framework.
(ZEBOMHEE, FEEOZEREORMAD T THIINLE)
(%] & - e [#] ~CEE&2 BT

A concert was held to raise funds to help the victims of the earthquake.
(WEHELZRFOEE2ED L0, Ty — s Erhi)

[B)] ~Z#il - ~2HYT2

The booklet illustrates the danger of drug abuse.

(Zo/MiEFE, EWEHOfERRIZOWT, #HPHLTWw5.)

(B)] T2 - ~2BAESIES

A large number of Japanese people immigrated to Brazil in the early 1900s.
(19004ERDHTHZ, ZLDHARADNT T I VANBELT)

(B)] ~Z/RRT L - ~ZWRT S - ~Z2Z0ONT

The discovery implies the existence of life in other planets.

(203, MOBBEIEMEIFIET 2 WREEEZRIZL TW5.)

DE] &Moo [%4] BT

A stone is dropped from the bridge with an initial velocity of zero.

43
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150.

151

152.

153.

154.

195.

156.

157.

158.

1%9.

160.

161.

162.

instance

J&: 4000

interact

J&: 6000

justify
J8: 4000

layer
J8: 2000

link
J&: 2000

locate
J8&: 2000

maximize

J8: 8000

minor

J8&: 3000

negate
J8: sk osk

outcome

J&: 4000

partner
J8&: 2000

philosophy
J8: 2000

physical

AR

(B OETIEL L EOMEEIETTHS.)

(4] Bl - kS

There are so many instances of violence reported these days.
(RiLiE, HFVICHLOBRNFEPHE SN TN S.)

[(By] HEAEHT 2 - EWISEELAD
Acids and bases interact to form a salt and water.

(B & HiJEIE, MEMER LTl EKRZART 5.)

()] ~Z1EH4LT 25 - ~I2D

No one can justify terrorism.

WCIHHT 5

(#ED T ALZIENLT LI LIETER W)
(4] J& - g [#)] ~Z2BRICERS
The ozone layer is being destroyed by industrial chemicals.

(A VEIEFEWE L > THES NSO H 5.)

(%] dHfs - 2%H) (B &

There is a missing link in human evolution.

(N OHEALDB/FIZIE, D%AT) DRITF7H
(& % H2) L(

The police located the criminal at a local hospital.
WBHIZLEEDELDT)
[(B] ~%2H&KILT S - ~ZWRILT S
Our new factory is designed to maximize energy efficiency.
(B7=bOFH LV LYE, TANVF—RELRAPIZT S L) HFFEhTn5.)
DE] ASwv - BT [B)] (~%) @AE%T2 (n) [E] REED

Do not worry about minor mistakes.

[(B] ~DfiiEZOE LD -

(521X, JLADSHIROIFEFEIC

NSRBI X X T 5%,

)

(B)] ~2H/ET S - ~2F BT

Further tests negated the possibility of other infections.

(351 L7k R, o BAhE O W] /e

(4] AR - R

What was the outcome of your final exam?

MIEXT A bOFFIZTES 2o
(%] i - A

727?)

oL« ~%20%<

a (RbIIZE) Hd)E9.)

P HESNT.)

Work with your partner to solve the question.

OX= P F——#2, COMELMELRE V)

(4] e - B

Philosophy is the basis of science.

F#x, o TchHs.)
] WE» - Wiko - Wito



163.

164.

165.

166.

167.

163.

169.

170.

171.

172.

173.

174.

J8: 2000

proportion

J8: 4000

publish
J8&: 1000

react
J8: 3000

register
J8: 3000

rely
J8: 2000

remove
J&: 2000

scheme

J&: 4000

sequence

J&: 4000

Sex

J8: 2000

shift
J8&: 2000

specify
J8: 4000

sufficient
J8: 4000

HTRPAEO 2D OIGFRRSG) A DRGEIZINT 7 APEE R 45

You had better do more physical exercise to stay fit.

(R ZHMEFFT 57201218, o LB Z L72IiZ) 25 X.)
(%] #& - He - sl

What is the proportion of boys to girls in this school?
(ZOFKOFLIE, LRl bnTTh?)

[(B] ~%ZWRT 5 - ~%25HET 5

I want to publish a book someday.

(Ao, REML THZW.)

[(By] PIB$ % - EHT %

Hydrogen reacts with oxygen to produce water.
KFIRFEIE LT, KBTES.)

[(B)] ~z88k - sy s (4] B8 - isk - 2 [B] (50) A
Have you registered for the conference yet?
(ZEANOEGRL, DHIFEAT LA ?)

[(#)] (~12) 85 - (~%) »TICT 2 (on)

Maldives’ economy relies on tourism.

(ENVT 4 TORKFI, BUGICEHS TWw5.)

[(B] ~2BET 5D - ~ZHY RS

The peace keeping force removed land mines in the area.
CPAKERRRRRR 1Z, Z OHIBOHTE 2 Y Bv7z.)

(4] % -5t (8] ~2®6T2 - ~%272K b

Innocent people tend to get caught in get-rich-quick schemes.
() B NE, —ETEOFEIICZE SNPeTVv.)

(%] e - W - Besl (8] ~%2B55 5 [#] ¥
The researcher is analyzing the DNA sequence of the X chromosome.
(ZOREFE, XYfRODNARYI A 54T L Twb.)

(2] YR - PEATE)

The X and Y chromosomes determine the sex of a person.
(X gt k&, Y getfhns, NoMllzids.)

(4] 20 - AT - BB (8] iEZ2ZERS - ~&2BT
This factory operates on three shifts.

(Zo&thid, 3ZRHITHRBL T2

[(B)] ~ZPIEICBRD - ~2RET S

Could you specify the risk factors of the surgery?
(FERERIZOWT, WHEISGRRCTW 2720 £307)

BAR Wi

Make sure to take sufficient amount of vitamins every day.
(THHREOEY I V&, HHERTZLHICLES W)



I W

. task (%] 1% - b
J8&: 2000 You will experience various tasks during the training period.
(B 727213, WHBEHIR IR A 2HH 2T 57259.)
. technical DBl o - EM 7%
J8&: 3000 His presentation tends to give too much technical detail.

DT VX Z, B3P Z 3 E 0075 5. )

. technique (%] Hefly - Fik

J8: 2000 The artist learned the technique of sculpture in Paris.
(ZDZEMRIZ, MR O % /3) THEATZ)

. technology (%] Hiffr - 147

J8: 1000 Science and technology should be used to improve human welfare.
(FHEpding, A4 OmAIOR LO7dIlibh b <& 7))
. valid (] IE47% - HW7% - Z47%
J8: 4000 There was no valid evidence to support the claim.
(ZDFk% EMNT 2 ARG\, )
. volume (%] & - (- W) &0 - i - & - &
J8: 2000 This article is in the Journal of Medicine, volume 2, page 72.

(ZofeEE, TEEYY—F V] OF2% 72—=I1ZH5b.)

Group 4
. access (4] ¥l - e - ZClOME [B] ~I27 2718 AT5
J8&: 2000 Do you have access to the internet?
£ ¥ =4y MIED%BYETH?)
. adequate (] WiE% - 4%
J8: 4000 It is not adequate to make decisions based on science alone.
(FHEORIIED T 2 T3 2 &3, EIETIE W)
. annual DE] fEIC1ED - BE0  [4] 58 - F8 [E] —FE5ny - —Fko
J8: 2000 I make my annual visit to Korea in April.

(BhiZ, #E4E 4 AIZEENCAT <)
. apparent UE] o7 - HAZ - R0
J8: 3000 It was apparent that he was lying.
(A MEZDVTWBEDIE, BIHES72.)
. approximate [B] BB LXZoD [#] ~2Eb$5

J8: *xx* The approximate distance from the earth to the moon is 380,000km.
(HEkHSHEToB Xz oHlHE, 38T .)
. attitude (%] REEE - 5% T - S8k
J8&: 1000 She suddenly changed her attitude towards me.

(E2iZ, RARNDORELZZER 72.)

_80_



187.

188.

189.

190.

191.

192.

193.

194.

19.

19.

197.

193.

199.

attribute
J8: 4000

civil

J&: 2000

code

J&: 2000

commit

J8: 4000

communicate

J8: 2000

concentrate

J&: 2000

confer

J&: 5000

contrast

J&: 2000

cycle
J8: 3000

debate
J8: 2000

despite
J8: 2000

dimension

J&: 4000

domestic

J8: 4000

HTRPAEO 2D OIGFRRSG) A DRGEIZINT 7 APEE R

(%] - JEiE (B ~% (~12) 5w9 5 (to)

What are the attributes of excellent teachers?
(RWERT O @k & 3 ?)

DE] iR - R[] REo

Martin Luther King led the civil rights movement.

(v—=F v - v—H— - F 7, ARMESZHEL)

(%] i - 155 (8] ~2fF5ftd s (8] B - &h1
The hacker broke the secret code in a matter of second.
(DN =&, BEOFTEZ—BRD) LI -72.)

(] GRaEz) Y - ~2HHET L - ~2RhD

The writer committed double suicide with his lover.
(ZofERIE, BAELHLZ)

(B)] (2T 2% - ZKET2 (K] Gikz) misEs

We can communicate through gestures and words.

(Bh7ebid, BIRY LEETAII2 == a v ETHILDTES.)
(B] P32 -H2T5

Hundreds of medium-sized enterprises concentrate in this area.
(T H O, ZOHIRIZEF L TW2.)

(] FELED - kT 5 - HHKT 2

I want to confer with my lawyer prior to any conversation with you.
(Bl BIELTHHIIC, FF#ELEMRKLIVOTT.)

(4] xi (8] Wi E£5 (~ A with B)

Japan is a country of great contrasts.

(BARIZ, wEEOKRE 2EZ.)

(4] JA - RBR

The engine rotates 50 cycles per second.

(20T 2%, 5004 7 VigH TR S %)

(4] W (3] Wawd 2

There has been a lot of debate about human cloning.

(b toru—=r7Ilo0nTiL, L o@mredhT&7z.)
[Fi] ~Zd b 5d

Despite their best efforts, the team of doctors were unable to save the patient.
(REBOZNZH 2D ST, EHIHE, ZOREZHI ZENTEXLho7z)

(%] ~F- R&s [#- ] &k

This box has a dimension of 10 cm X 10 cm X 10 cm.
(COFOFEE, 10mx10ecmX10 emTH 5. )
DE] BN - RED

We are facing a pile of domestic and international problems.
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200.

201.

202.

203.

204.

205.

206.

27.

208.

209.

210.

211.

212.

emerge

J&: 3000

error

J&: 3000

ethnic
J8: 3000

goal
J8: 1000

grant

J&: 2000

hence

J8: 4000

hypothesis
J8: 4000

implement

J8&: 4000

implicate

impose

J&: 4000

integrate
J8: 4000

internal

J&: 4000

investigate

I W

(Fex1d, £ OENE L UEBEMEICERL TV, )

[(By] MBl$ 5 - KIZBINn2

After the collapse of the island, a new volcano emerged from the sea.
(CORDHEEL 721212, 7=z kils, e HmBL.)
(4] BRD - Bk

There is a critical error in the calculation.

(ZOFHEICIE, ERLERIVDH L)

DE] Riko - AMEo

There are all kinds of ethnic foods in the food court.

(207 —Fa—M2id, »o5WLHHORKEAMENH2.)
(4] HEE - HIY

It is my goal to climb every “local Fuji mountain.”

(T [5p3LEL] Z2HBT 200, ROHETY.)
(2] B [B)] ~Z2fFd5 - ~%2525%

The research was made possible by the grant from the government.
(ZoWFe, BIF»S5OPREICE o T, WigE ko)
(Fl] 2wz 12 L7225 T

Satsuki was born in May, hence the name.
(E2&FRBHAEEN. ThO I, ZOXHTHD.)
(4] A - E

The hypothesis was rejected by the data.
(ZOWHIE, F—F k> THEIES N

[B)] ~%2FEET 5 - ~Z2FETITBT [H] EE - figah - KB
The government implemented a new economic policy.
(BUIFIE, Bzl Bokz L 72.)

[(B] ~% (QUSEZR L) B53E2 - €5

The man was implicated in the drug trafficking.
(ZOBEIL, MEOEWIIHGIELNT)

(] (F#HRLT) BT -BbED

A heavy tax is imposed on tobacco.
(FNTTREENBAREIN TS,

(] ~zeads (B ~%2hed5

The marketing division was integrated into the corporate strategy department.

(=774 Y7L, BEEMRICREG Shz)
DE] Mo - WA 72

The patient had a massive internal bleeding.
(ZoEHIE, KEONHIE LTw.)

[B)] ~2HWE&ET 2 - ~Z2METS
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213.

214.

215.

216.

27.

218.

219.

2.

21.

222.

223.

24.

J8: 4000

job
J8: 1000

label
J8: 4000

mechanism

J8:4000

obvious
J8: 2000

occupy
J8: 3000

option
J8: 4000

output
J8: 4000

overall

J&: 4000

parallel
J8&: 3000

parameter

J8: 4000

phase
J8: 3000

predict
J8: 2000

HSRPAED 720 OFEFEESR ) A N REIC T - RG] 49

The police investigated the murder case and identified a suspect.
(B2, CoOBRANFH2EEL, —AOERALZHIML.)

[44] A3 -

It is hard to get a job in the present economic situation.
(BHEDRFIRR O P TIE, HFEZFZ0EHLV.)

[#] Ly g gxu [B)] ~Zby T IXVERS

Put a label on each test tube.
(ZNZRORBFEFICTTNVERY 2 E\W.)

[%4] HiiE - ALAH A

A rotary engine has a different mechanism from other combustion engines.
(B=F )=V Vi, MOy Yy EidRhi -2l T 5.)
DE] HSh7% - A%

It's obvious that the calculation is incorrect..

GHED HE S TV B0, WSR2/

[(B] ~% 595 - ~% 5HT 5

Saudi Arabia occupies 80 percent of the Arabian Peninsula.
(FoIVTIETIR, TIETLEDN%E HbD.)

(4] I - =P

Choose the correct answer from the options below.

(IELW&EZz %, TORERPOHPLENZIW.)

(4] s - pEME - M (8] ~ZEHRT5 - ~2Hh75
Technical efficiency means producing maximum output with minimum input.
(Hafrphse &g, wAROEFED?S, RAROEEREZEAMNTIETHS.)
D] &k - G614

Such minor errors do not affect the overall achievement.

(2D X9 BUEHIZRD X, SEROBCRITITZEL Z2\w.)

] (~&) P47 (to) [#] “PATH E@Hﬁﬂ

Line AB is parallel to line CD.

(M ABIE, #CDICHLT, P47 CTHh5.)

(%] W (] 89 x—% - BEAEHC 518

Set the parameters of the function as follows.

(BBDNRT A= %, ROXITHBELRE W)

(441 BB - Je i

As we grow up, we go through different phases of development.
(RT 22N T, FA7eblidbks 25 EEM LS. )

(B)] ~2FHITE - ~%2TFET5

It is hard to predict earthquakes.

(EEFHT S &, HELW.)
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225.

226.

227.

28.

229.

230.

231

232.

233.

234,

23.

236.

237.

principal
J8: 2000

prior

J&: 4000

professional

J&: 1000

project

J&: 1000

promote

J8: 2000

regime

J8&: 4000

resolve

J8&: 4000

retain

J&: 4000

series
J8&: 1000

statistic

J8&: 4000

status

J&: 2000

stress

J&: 1000

subsequent

J8: 4000

I W

D] ¥7:5 - £4 [4] &% [E] 348

Poverty is the principal factor of political instability.

(AW, BUSALEDTEENTH )

DE] Hio - F479 %

You have to do prior art searches before filing a patent.

(FFFFZ HIES9 21121, BITEahofifz L 20l s % w.)

DE] oo - &Moo - ko (%] 7o - EHR

You should get professional advice from a lawyer.

(LS, EMWEPE VAR

(4] H3 -5t - 70y =7 b (B ~28ETL - ~2 RS EDE -~ TFllT2
The first atomic bomb was developed in the Manhattan Project during World War 1I.
(RO T, 8RR, <>y ¥ VEHECRFE S )
[(B] ~%2RHET D - ~ZHHEET D - ~2AHESIED

A catalyst promotes chemical reactions without itself being affected.
(X, ThEHGPEEEZZTH LR LIS, LEEERET 5. )

(%] Boa ] - 1k ki

The collapse of ancien regime has led to a new order.

(IBARHI D 33, B L WBEIF 238 7z.)

(B)] ~2PET 5 - ~2WId 5[] Rl - Uik

We should continue efforts to resolve the territorial issue.
(FHLEEZRRT 57:00% )%, HlFHX&E72)

[(B)] ~2HFFT 5 - ~2 R

This new material absorbs and retains water very well.
(COFFMIE, Woktk L RREICENRTYS.)

(%] #ike - v —X [&] By [&] #%

The district has been hit by a series of earthquakes.
(ZoiIgiE, MK CHEICHAEDNTNS.)

[44] AREHE - el E

A statistic analysis shows that there is a correlation between color and mood.
(BRI R HTIC L B &, B E RS IIIMHBBRY S 5. )

(4] fir - By - 6% - K

The social status of women needs to be improved in most countries.

(%L OET, KOS OMN EASHSNLELE D 5. )

[(B)] ~%z@mild 2 [%] APV - Bk - G

The paper stresses the need of daily physical exercise for adults.

(ZO@sCE, BAPHEHERNT LI L OLBEREZHMALT5.)

(] #nCTliEZ % - #lifte LTALZ

The earthquake and subsequent aftershocks generated massive landslides.
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(MR & ThUTihE < REEAY, RELME) 2513 L)
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238. sum (4] &t - M (] ~26595 - ~2%H7 5 (up)
J8&: 3000 The whole is greater than the sum of its parts.
(&R, BoroasEtLh b REWV)
239. summary (%] B8 - By
J8&: 4000 A patent document needs to include a brief summary of invention.
(FEFPIMIE 121, HHOMELZERN 2 ED R ITER L RWw.)
240. undertake ()] ~%251&%F5% - ~%iETHED
J8&: 4000 The contractor undertook the construction of the suspension bridge.
(ZTOFEHRIZ, MFoORZREGH IR
] Group 5
241. academy (%] AR - 7 H 73—
J8: 5000 He graduated from the police academy with honors.
(Peik, BRPEREEGTEELR.)
242. adjust [B] (~I12) Wd 5 - (~I2) #eT 5 (to) - ~ZiRET 5
J8&: 3000 It takes a while to adjust to new circumstances.
(B L WBRBCIEIG § 2 012iE, BERIASH 22 5.)
3. alter (B)] DD - ~%E2b
J8&: 4000 Humans altered the earth’s climate by emitting greenhouse gasses.
(NFUE, REBMRTAZIEHT A LICE T, koK BEEEZ72.)
244. amend (Bh] (GBI - FfEe Ll x) 225 - WET S
J8&: 5000 There are movements to amend the constitution.
(BEEAQEL L) L T8 X055 )
25. aware DE] (~12) 2w Tw3 (of / that)
J8&: 1000 Most people are not aware of how much salt they take in everyday.
ELDOAAEF, BHENZTORDOEFZHEBINL TWDEA, EilkLTwiawv,)
26. capacity (%] &2 - WD
J8&: 3000 The airplane has a capacity of 400 passengers.
(ZDORATHRIZ, 40084 DINERRI DD 5. )
247. challenge (%] W - HE (8] ~i2dkte
J8&: 1000 Climate change is a big challenge facing the world today.
(R, SHMERER L Twab K& 2EE)
28. clause (%] & - SIH
J8&: 4000 The article 9, clause 2 stipulates no possession of military forces.
(BEI%, H2HE, BNIOARFFZEDTND.)
249. compound (%] & (8] ~2AWT5 - ~% (~&) BE¥E&bLEL (with) [b] 1L&EW
J8: 3000 A protein is an organic compound.
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290.

1.

202.

23.

24

2.

236.

297.

28.

29.

260.

261.

262.

conflict
J8: 2000

consult
J8: 4000

contact
J8&: 1000

decline

J&: 4000

discrete

J&: 8000

draft
J8: 4000

enable

J&: 2000

energy
J8: 1000

enforce

J&: 4000

entity
J8: 4000

equivalent
J8&: 3000

evolve
J8&: 3000

expand

I W

(5 287 &, ARILEMTHS.)

(%] 22 - 33 [B)] Juds [O] &k

Life is a struggle with the conflict between the ideal and the reality.
(NEIE, BEEBEOMVVIIHZSIETHD.)

[(B)] ~ RS 2 - CCikZe &%) X5

You should consult a doctor for medical advice.

(BEFHIHHELT, 7ENARAES S/ RW.)

(4] #efh - ik [B)] (~&) HiEZMS (with)

Eye contact is essential to effective presentation.

|1y

(7A4ay% 7 ME, RN TLEYyF—2 a2t oT, FEHICHEETHS.)

(%] WA (B3] W55 - (HLTZE) Wi
Population decline in Japan is accelerating.
(HADANLHRA %S, MELTW5.)

DE] 7B L7z - Bleo (3] B 7%

Patients were divided into discrete groups according to their physical condition.

(BEE, HFRCELT, Wco 7 V=T bhiz)

[(B)] FAzE < [4] REtX - BAg - T#HZ

The Japanese constitution was drafted by the US occupation forces.
(HAREEEE, 72XV ABEREICL T, ERpEINZ)

[(B] ~%ZWEEICT S -~ T&5XH12T5

The robot suit enables a person to easily lift 20 kilograms of weight.

(FouKRy P A= Z&FENL, 20 kgD FE S ZHICHEDL FIFAZ L5 TX5.)

(%] = F— -5

The amount of energy transferred is the same as the amount of work done.

(Ezbhlzz AV F— X, ZREINTAFRIIFLY.)
(] ~%2%E7T5 - ~%2EET 5

The town has decided to enforce a smoking ban in public places.
(ZDHNL, ROBFTOBER 2 s 52 &1 L7z)
(4] FEfk - 5218

Intellectual property is an ideal entity.

(I EE & W) b old, BN THS.)

(%] WSy DB (~&) S0 - (~12) %35 (to)
Some English words have no Japanese equivalents.
(FFEOHIZIX, HAGFHRICHAT 25805 20wb0bH 5. )
(B)] ELT 2 - FET S

Man has evolved from the ape.

(& M vph sl L7z.)

[(B)] LRT 5 - ~%HRT S
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263.

264.

265.

266.

267.

268.

269.

210.

211

272.

273.

274,

J8: 2000

expose
J8: 3000

external

J8&: 4000

facilitate
J8: 4000

fundamental
J8: 4000

generate
J8: 3000

generation

J&: 2000

image

J&: 1000

liberal

J&: 4000

license

J8: 5000

logic

J8: 4000

margin

J8&: 3000

medical
J8: 2000

HTRPAEO 2D OIGFRRSG) A DRGEIZINT 7 APEE R

Edwin Hubble discovered that the universe is expanding.
(R4 Y Ny TV, THIBELTWLZEEZEHALL)

(] ~% (-12) 57 (to)

C~ R BT D

The body produces vitamin D when exposed to ultraviolet rays.

(e oI RE, BAMICELEIND L, ¥¥IVDEAKTS.)

DE] Ao - SHEr 7%

The body had no external wounds.

(FEkIcix, MR ho7z.)

[(B)] ~ZHEHIZT 5

c~ RS B

This e-learning tool is intended to facilitate self-learning.
(Z® elearning #AM1E, HEFHEZRET L7-0IMESNTNS,)

(] AR - WA 2

(4] A -

JEUH

Education is one of the fundamental human rights.

(BHEZZT LML, ERWAHDO 1 OTHS.)

()]

~zht

s~ SRS

This nuclear reactor generates 78 megawatts of electricity.
(COWETHIE, T8AF Ty OB EFEAESES.)

[44] HEAC - BEH - S8

“Heritage” means something to pass on to next generations.

(3] L1E, KOMRITFZHOTHLCLDDT LE V)

[44]

% - %

[(#)] ~z28%T 5%

A real image is inverted and it looks smaller than the original object.
(FBEIHELTBY, dLoPERIDBISCHZS.)

DE] BlmE#o - A% - A%
In general, Democrats are liberal and Republicans are conservative.
(—#miciz, RERBIABERT, BB RIRTFERTHS.)

(4] S - #FEE -

(&) ]

ke (] ~%

(4] dEARE R

Y%

~TA AR 2D
The company failed to pay the royalties required under the license agreement.

(2O, FFFERFHIHTEREN TS, 2 b Rho72.)
am B -

There must be an error in the logic of the program.

(FOTUZ 32007y 7IZEY DD DHITH N,

(441 FUig -

AH

The profit margin keeps going down with the rising cost.
(A POFEEICEDR->T, ARSI T HET TS,

D] B - EF0

(4] BEeAsE

All the students get a medical check-up every year.

(ETOAELED, B4 1 HEREBH 2200 5.)
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275.

276.

217.

278.

219.

280.

281.

282.

283.

284.

28.

286.

2.

mental

J&: 2000

modify
J8: 4000

monitor

J8: 3000

network

J&: 2000

notion

J8: 3000

objective
J8: 4000

orient

J&: 8000

perspective
J8: 3000

precise
J8: 4000

prime

J&: 2000

psychology
J8: 3000

pursue

J8: 3000

ratio

J8: 4000

I W

BAR T IORRING

The number of people with mental disorders is increasing.
(LOMEZRZ I ANOBAIEZ T 5.)

[(B)] ~%BIETS - ~25ET 2 [B] ~%2 BT

Do not modify or redistribute without permission.

FF 2 LICSE L), #AE L TRV EEA.)

[(B)] ~Z28EHT 5 - ~2BWNT 2 [#] T=F— - BEHEE
The electrocardiogram (ECG) monitors your heart rate.

CLEMEE X, HR7-0.0mBEBNT%.)

(4] T [B)] GFMlz) BETS - (aYEa—%%) 5y bT—=27TO%S

The internet is a complex body of worldwide information networks.
(4 >y =%y M&, RIS ZHEHA Y T -2 OWEKRTH 5.)
(4] B - Bl

Galileo insisted on the notion of the earth revolving around the sun.
(T LA, WERPFKBEOHY 2o TwdEw)ZExeERLL.)
DE] ##ins (4] BHEE

Science needs objective minds to work.

(BHAIZIE, BB A OB & H3LTE72.)

(] ~%#EESED (HMEarobesd) - ~IZFs (7] R/t
Course 101 is oriented towards beginners.

(2 —=21011%, #LHFMFTH5.)

(4] #R - Blnt - KRl [36] ks - B

Let's try to see things in perspectives.

(KRBT, bOTLERTAHELY.)

FARNR 2 €

Please give me your precise location.

(B 723V B IEMER YT 2 B R TS 723 W,)

DE] &ko - xbo [#] #%

2,3, 5, 7, are all prime numbers.
(2,3.5.7, & &THEHETH5.)

(%] LB - L

Psychology is a study of human mind.

(DHFE L, AMOLERET 572 TH5.)

(] ~%iBKRT D - ~%ZiBVRDS

Researchers are pursuing the possibility of turning CO, into useful materials.
(WFFEFE L, “IRILRFZEZ A M ZWBEICER W REMEZBRL T05.)
(4] ke - HE

The ratio of elder people has been increasing.
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288.

289.

290.

291.

292.

293.

294.

29.

296.

297.

298.

299.

reject
J8: 3000

revenue

J&: 4000

stable
J8&: 3000

style
J8: 1000

substitute

J8&: 4000

sustain

J8: 4000

symbol
J8: 2000

target
J8: 2000

transit

J&: 6000

trend
J8: 3000

version
J8&: 2000

welfare
J8: 3000

HTRFEE D7D OPEFEFERL Y A D HEIZ AT 72 R R 55

CERM A OEEGHHEML T05.)

(8] ~%EHT2 - ~2HTT2  [f4] Hill - AR - BEEY

The plaintiff's appeal was rejected by the court.

EE 0T, BHPTICE s THTSIN)

EANIEXRIUN

Advertising is the main source of revenue for most broadcasting companies.
OREHD, 1ZEALDORERAMOEELPARTH 5. )

DE] L (7] &R - B/NE - HEERE

A noble gas is stable because it has eight electrons in its outer orbital.
(FAADEEL T, JHREFHEMTHLDTHAL.)
(4] KX - 27 40V - R

Academic texts use a formal style of writing.

(FMLEFIE, WEohEHS.)

(] ~% (o) RbYITES (for) [4] FHM 2] KHD
Honey can be substituted for sugar.

NF IV, BHEORHmE LT 2 LA TES.)

(B] Fb2722% - ~Zifzxs [ GEE%) #02

We need to get a proper amount of food to sustain physical strength.
(N ZHEFET 2720123, EEORFL LELLEND L. )

(%] S8 - is - RV

The constitution defines the emperor as the symbol of state.

(EHIE, KEZ, HROZKHELTVS.)

(4] BAE - BER (3] ~Z2 835

A homing missile follows the target all the way.

GBEIYA VL, HEWZ - LiBoTWLL)

(4] @ - R [B)] (~%) @HT2

The transit passengers had to stay overnight at the airport.
CEODMEEIE, BETHBII LTI LR o7)

(4] fEIf) - 94T

The trend is toward increasing restrictions.

(M & LT, Bflzmibs2H50lH 5. )

(2] - "= a v

You can install a new version of the software without uninstalling the older one.
(ZDV 7 b7 2T7OHN=Yavid, HRET YA Y A=V LT, Y A b—
VTED.)

(4]t - fEAEA

The government is trying to reinforce social welfare programs.

(BUfF i3, #Em@iBokzmitL L9 & LTwa.)
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56 A W
30. whereas [($2] — /i T ~THHDITHLT
J8&: 3000 Sound waves are longitudinal waves, whereas light waves are transverse waves.
FHWRIIHEPTH BH, —T7, BEIHETHS.)
] Group 6
301. abstract ] fhi%wyz (4] 8 (3] ~2Med2 - ~2 2952
J8&: 3000 Time is an abstract concept.
(R, PhigmEers.)
302. accurate DE] EfE% - A& %
J8&: 3000 The report was concise and accurate.
(ZofEF, HRETIERLS72)
303. acknowledge [B)] ~%Z#05 - (PG EDOZELY) WilT 5
J8&: 4000 Please acknowledge receipt of this message.
(DX =V RBFRIHV2 %, BHAILELEZEN,)
3. aggregate (4] ek (B £35 - ~%2H05
J8: 5000 A rock is an aggregate of minerals.
(HIX, SEWOEEGHETDHS.)
305. allocate (8] ~2HYYTE - ~%BET S
J8&: 4000 The research budget was equally allocated to each member.
(PRI, KA o NN—ITFFEICEY B THNT:)
306. assign (B)] ~2Fd 5 - ~IHFEBE525
J8&: 4000 I was assigned to clean the spilled chemicals.
(B, ZiFh7egmz g skzmEonsz.)
307. attach (] &2 - ~2ZWONITL - ~2RNT 5
J8&: 2000 Do not open attached files unless you know the sender.
(EEBADOGDPLRVEN7 74 Vi, B TEwITZw.)
308. author (4] &% - 165 (8] FWeEr) FT
J8: 2000 The author has the copyright to his work.
(PEFIL, B ORI 2 FFEZHoTwb.)
309. bond (%] #56 - &34 [B)] ~%28ET2 - ~&2632  [R&] B - ik
J8: 3000 The bond between mother and daughter is strong.
(B & IRORRIZ . )
310. brief D] FHZz 4] 2% (8] FEICEES (3] s
J8&: 3000 This review gives a brief summary of research trends in bioscience.
(CoVTa—id, AEMFFEICBIT AR ZH L Tn5.)
311. capable K] B85 - ~T& 5 (of ~ing)
J8&: 3000 The aircraft is capable of flying 10,000 km non-stop.

(ZORITHIE, 10000kn/ Y A by T TRREZENTES.)
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312.

313.

3l4.

315.

316.

37

318.

319.

320.

32l

322.

323.

324

cite
J8: 4000

cooperate

discriminate

J8: 6000

display
J8: 2000

diverse

J8: 5000

domain

J8&: 4000

edit
J8: 4000

enhance

J&: 4000

estate
J8: 3000

exceed

J8&: 4000

expert
J8: 2000

explicit

J8: 4000

federal

J8: 4000

HTRPAEO 2D OIGFRRSG) A DRGEIZINT 7 APEE R 57

[B)] ~%25IHT5 - ~IZELTS

The research paper is widely cited for its methodological innovations.
(ZOW9Eam L, Wi FEoOWw I, RLFIHENTnS.)

(B (~2) W55 - (~&) BT 2 (with)

The zoo cooperated with an NGO to protect endangered animals.
(ZOEWEIINGO T LT, MEkoOFENOD 28 ERi#EL7.)
(] (~%) #§F % (against) - ~% (~»5) X525 (from)
People are still discriminated against by the color of their skin.

(N2 iE, WEZINOBTENSRTNS.)

()] ~2FRT5 (%] R TAATLA

The monitor displays the image of the patient’s brain.

(=% -3, BAEOWOWGEIRLTVS.)

) B4 7% - Zhe7e

It is good to get to know people with diverse views.
EHRDDODORFTERFOAL L, HIDEVIIELIEIRRVWI L)
(4] 05 - SIS

Ttems in the public domain are copyright-free.

XTV) w7« FAL Y ZHDHDDIE, FEFHEZ7) —Th5.)

[(B] (~%) WET 25 [4] Wik

Saussure's lecture notes were edited into a book by his students.
(Vya— Vol — Md, KoBTFbillo ThfESh, Kiko7z)
(B)] ~%2&D5 - ~%mdb - ~2HHET 2

The exchange will enhance the mutual understanding between the two countries.
(ZoziE, 2EMOMEMBZ RO L7259 .)

(421 Hufr - ABhpE

The value of real estate is going down.

(REREDAIES, THLTW5.)

[(B)] ~28B25-~%2LDOC

The abstract in the patent application may not exceed 150 words.
(FERrHaEE oI, 150iE 22 TIEA 5 2w.)

(4] BM% - A

Medical experts were sworn in for testimony at the court.

(A DEFREMEH, BEETOIESO7dIZHEnz)

DE] A% - U305 - BE%

Terms of payment should be made explicit in the contract.

N GME, ZHEORIIHRENZITE R LRV,

DE] #EEBFo  [(4] s

FBI stands for Federal Bureau of Investigation.
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32.

326.

321

328.

329.

330.

3L

332.

333.

334.

335.

336.

337

fee
J8&: 4000

flexible
J8: 3000

furthermore

J&: 3000

gender

J&: 3000

ignorant

J&: 6000

incentive

J8: 4000

incidence

J8: 4000

incorporate

J8&: 4000

index

J&: 3000

inhibit
J&: 5000

initiate

J&: 4000

input
J8: 4000

instruct

I W

(FBLiE, [EFFMAR | OWTH5.)

(%] B4 - FEE

There is no admission fee to the Smithsonian Museums.

(RIV =7 VWIS, ABRPES )

DE] Fgkz - BlEO & <

The robot has a flexible arm with six axes.

(ZouRy ML, 6HOFHRET —L%FHoTWw5.)

[(B]] 2ok, E5IZ

Furthermore, Einstein stated that light rays should bend in strong gravitational
fields. (EBIZT7 A ¥ a4 iE, BOENETE, Il 21337287
(%] Y ry— - GE&m - 30fen) 1

Recently, gender identity disorder has drawn attention in society.

(i, YEF—BEED, HETHEHINLG L)X ko72)

(] M7 - WAL

The more you learn, the more ignorant you realize you are.

(FRFFERIE, COWMERDEHD.)

(%41 BB - UL - 2E5) - R 2RI I ELHD

Patent protection gives incentives for firms to create new products.
(RO, KALICH LR 2/ES) L3282 52 5.)

(%] 384 - mBL (W] A%

The angle of incidence is equal to the angle of reflection.

(AgHE, RIS L W)

()] ~z#Aire [#] ~2BEAMET 2

Saitama city incorporates the former cities of Urawa, Omiya, Yono, and Iwatsuki.
(BweFifid, 2hIcoffint, Kel, S8, aMiliziAiriaTns.)
(%] $68E - &5l - A 7y 7 2 [B)] ~I2HKGE2D1T 5

The consumer price index is going up.

(HEHEWMERD, LA LTWS.)

[(By] (HERATE R %) WK 2 - HET S

Acid rain inhibits the growth of plants.

(BRVERN L, WYOREZHET 5. )

[(B)] ~%2ihDb - ~2AXSEDL [H] HARHE

Rosa Parks initiated the civil rights movement in Montgomery, Alabama.
(=4 - =27 2%, 7 INNEY b TRA) —TRRMEER) 2 1HD 7. )

(B] ~2ANT5 [%] AN

Input the telephone number, and the display will show the map.
(BEFFEANTHE, TARATVAPMAEFRTS.)

()] ~IHRT % - ~%2fET 5%
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338.

339.

0.

Ml

2.

M43,

4.

345.

346.

M7,

348

349.

J8: 4000

intelligence

J8: 2000

interval

J8&: 4000

lecture
J8: 2000

migrate

J&: 7000

minimum

J&: 4000

ministry
J8: 3000

motive

J&: 4000

neutral

J&: 3000

nevertheless

J8: 2000

overseas

J8: 3000

precede
J8: 4000

presume

J&: 5000

HTRPAEO 2D OIGFRRSG) A DRGEIZINT 7 APEE R 59

The students did as the teacher instructed.

(=B, BEPTRLZEBDIZR 7))

(441 M - 158 - R

James Bond is an intelligence agent for Her Majesty's Secret Service.
(Vz—2Z - KUY NI, EEBEHHRTORRBETH 2. )

(%] ks - X

You will always see young couples sitting at regular intervals along the Kamo river.
(BINDIEE Y TE, WObHEWA Y TUDPERBEIE S TR0 02 5.)
(4] W% - W [B)] %52 - WET 5

Michael Faraday gave a famous lecture called “The Chemical History of a Candle.”
(AN - 7777 —F, HH% 0=y 7ofE] L) ilEziTo7.)
(B] BES2 - GEMIIC) #E2

Every year, whooper swans migrate between Japan and Siberia.

(4R, A+ s Faviz, BREYRY TOMEES.)

(4] &R DE] s/hBo  [$] &MVl - foMiE

Find the minimum of the function f(x)= x*-12x on the interval(-3,3).

(B f(x)=x*>12x ® (-3=x=3) BT rR/MiEZRD X.)

(4] AT - KREOWRE;

The education ministry announced a new course of study.

CCERRHAE R, B L WiERR a2 R L 72.)

(4] bk - SR

The motive of the murder is unknown.

(ZOBANFHOBIZ, 57hoTWiw.)

[E] daro  [4] Wi - iz

Switzerland is a permanent neutral country.

(AA 21&, AHPVETH2.)

(Fl] 2iZHr0bbd - ENTH LB

The worst time is over. Nevertheless, there still remain problems.
(REOWRI#H b7z IZdpnbbT, FEMEKRSTW5.)

(4] A4E DB whto [E] s

Japan sponsors considerable technical assistance overseas.

(HAIZZ DM AR RIIZHE L T 5.)

[B)] ~ZEAT95 - ~IBALD

Weight loss often precedes the onset of the disease.
(ZDOIRLADFIN72 5T, LELIZREORIAR 5. )

(#] (~%) KET S - WS 2

A defendant is presumed innocent unless and until proven guilty.

(Bt N, FIDSEEHENGWIRY, B EE AL INDS.)

1)
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30. rational el sz - GEM %2 (3] 8%
J8&: 4000 There is a conflict between feelings and rational thought.
(B L, AEMNEZOMICIE, BEXH5.)
%l. recover [(Eh] WMIET 5 - ~%IEH RIRBIIET
J8&: 2000 The computer didn't recover after being shut down.
(Zoar¥a—4it, F7rLThdbEbhholz)
3. reveal ()] ~2RFET 5 - ~2RET L [H] 8- KAV
J8&: 2000 The government has finally revealed the truth about the secret agreement.
(BUfIE, DWIZERIZOWTOEFEZ W, L2.)
33. scope (%] #iPH - B
J8: 4000 Atomic radiation cannot be explained within the scope of classical physics.
U7, RO HE TSSO v, )
354. subsidy (%] Bhei4ss - whibh4:
J8: 4000 The government has decided to increase child-care subsidies.
(BUffiE, BRMEZHMETLIZE2PuEL.)
3%. tape (#)] ~27—7T&HL [#] 7—7 - 0%
J8&: 2000 The soldier taped the mouth and eyes of the captive.
(T, MiEoBLO%Z, 77 THEIVE)
36. trace (4] o - ik [B)] ~%28845 - (MRXLFE) 25
J8&: 2000 There was no trace of the missing blade.

(KBRIcflibhzz) ML, L2icdfoTwnehorz.)
7. transform (Bh] EhEbE - ~2 BT S - ~2EWHT 2 [K] £
J8&: 3000 The caterpillar transformed into a beautiful butterfly.
(ZOERIF, ZRLTELVEIIR )
358. transport [(B)] ~%¥ET 5 - ~%EHT 5 (4] Wk - E

J8&: 2000 The injured person was transported to the hospital by a helicopter.
WFANE, ~NY T 78 —THRbE~E% S hrz,)
3%9. underlie [B)] ~DOTFIHEZzDb S - ~DOWKIZH S
J8: Hxx Lenz discovered the mechanism underlying the process of electromagnetic induction.
(Ly i, EHE7T O 2OMKICH AR L)
360. utilize (B)] ~2HEHT5 - ~Z2FHT5
J8: Hxx The house utilizes rain water for flushing toilet.

(ZOFRIZ, PMLEZHRIOICHAKZFAHLTNS.)

] Group 7
361. adapt (B] @b TS ~% (+12) @edEs (to)
J8&: 3000 Only those animals that could adapt to the changed environment survived.

(ZDBBEDZAUTHEIG T E LB DAY, HEEKo72)
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. adult (4] KA AN DE] BA®  [A] Btk - il
J8&: 1000 Hypertension is one of adult diseases.
(R, AW (EEEER) O0E>TH5.)
. advocate (8] ~Z2FRT 2 - ~Z_ET 2 [H] FE - BHE

J8: 4000 US President Barak Obama advocated a world without nuclear weapons.
CRRBIENT 7 - A%, RGOt RZRE L)
. aid (%] =By - o5 (8] ~2%Bh¥ 5
J8&: 1000 The government provided emergency aid to the tsunami-shattered area.
(BUff i, EEosEr 2 -, Baghtiro7:.)
. channel (%] WEK - - & - (FLED) Fx v [H] Kl - ik
J8: 2000 The dialogue was arranged through diplomatic channels.
(Zo&iE, AmEELT, RESIN)
. chemical (%] Ab=WE - fedenh DBl fbyo [Mk] Gk
J8: 2000 Dioxins are toxic chemicals that can provoke serious health effects.
(FA+Fy 3, BRICERRZEELRITT, HFFEILAWETHS.)
. classic D] by 2 - Sk 2 (460 b - BEfE
J8&: 3000 The N-body problem is a classic problem in physics and astronomy.

(KRR, P E RLFITBIT S, HMLWEETH 5. )

. comprehensive [JE] Wiz - REMW %

J8&: 4000 The Comprehensive Nuclear Test Ban Treaty (CTBT) was adopted by the UN
General Assembly in 1996.
(RS FERREE LS4, 199648 ICEER S TRIRE L7z.)

. comprise (] ~0HH5 - ~2WU&T5h

J8&: 4000 Japan comprises four major islands and thousands of small islands.
(AR, 420FEzEE, MTHONSLEPLE->TVS.)
. confirm (B)] ~%HEDDD - ~ZfERT S
J8&: 3000 Arthur Stanley Eddington confirmed Einstein's prediction that gravity could bend

light. (7—=%— 2574 2% HBEEITHILEVS, T4 254 0DF
WA AT 7))
. contrary O] (~12) KD (to) [44] %

J8: 4000 Contrary to popular belief, Japan is by no means a small country in terms of area.
(—HRICBELON TV RO LIS, HARREMIZBWTHRL TS WETEZ )
. convert ()] Zbb - ~% (-12) Z#f5 2 (to) [#] WINFH - SOFH
J8&: 4000 The analogue signals were converted into digital form.
(Zo7FurzErg, 7Y VERIcERS )
. couple (%] —# - —xF [#)] ~Z#ET5
J8&: 1000 The police found a couple of dollar bills soaked in blood.

Bgd, M OMICH T o7z PV 3g i L7z.)
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374

3.

376.

317

378.

319.

30.

3.

382.

383.

384

3.

386.

decade
J8: 2000

definite
J8&: 4000

deny
J8: 2000

differentiate
J8&: 1000

dispose
J8: 4000

dynamic

J8&: 4000

eliminate

J&: 3000

empirical

J&: 4000

equip
J8: 4000

extract

J8&: 4000

file

J&: 3000

finite

J&: 7000

foundation

I W

[42] 104EH - 104

The offshore oil rig exploded and caused the worst spill in decades.

(M EOAMMIRHIZEARIE LT, MHEIC 1 Eoaiiiz b7z5L7)

DE] Wz - 1d-& ) L7

No definite conclusion was drawn from the experiment.

(Z0FEE»PHIE, E-o& ) LMol EME s o7z)

[(B] ~z2 & %ﬁ‘é -~ 5

No one can deny the possibility of accidents at nuclear power plants.

GlED, FHT B TOFROWRENLEEZ, BETLHILIITERW.)

[(B)] ~%#iT 5 - ~2XH$2 [B] ~%2®5T%

It is hard to differentiate between fair use and violation.

(RNIEFIH D, FEEEEPZ T2 ) EXHITHZ LITHLW.)

(] (~%) Wnd5 - (~%) BEET S (of)

The chemical company illegally disposed of industrial waste in the nearby river.
(2o b mattix, I DIINIEREBEFEY 2 A EHRFEL.)

(] Jrigwe - @JE‘JCC (] D157

There was a dynamic change of temperature during the reaction.
(ZOLFEOBDRINC, MEAKRE {EfEL7:)

[(B)] ~2RET D - ~2kK<

In 1967, WHO announced a global campaign to eliminate smallpox.

(19674E12, WHOIRAEHEE D720 OMRIG 2 F v v "=V A HF L7:)

DE] &8RN 7% - FEERIZIED W72

There is no empirical evidence to support any of these claims.
(CNOOFRZFEMNT D, FEBRIGERIE, T 2\0.)

()] ~12 (%) T2 - %hid 5 (with)

The robot-cat is equipped with five touch sensors.

(Z0ouRy ORI, 5200ty —DEMINTNS.)

(B ~z2did 5 - ~z¥hed s (A4l 518 - Pk

Scientists have extracted DNA from fossilized eggshells of extinct bird species.
(B, Mk L7z Bofbafb L9 oms 5, DNAZHHL7:.)

(%] 7740 [B)] ~&%ULAG (8] FRzEST

A group of female workers filed a lawsuit against their employer for job
discrimination. (ZKMEF7@HEO 7V — 79, BEHEZMHFN- T, EHENFRZEZ
L7z.)

DE] B shiz - AR

A finite set has a limited number of elements.

(HRREAIE, HREOERZFD.)

(4]t - 26 - Jhs - WH
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388.

389.

390.

L.

392.

393.

394.

39%.

39%.

397.

398.

J8: 3000

globe
J8: 3000

grade
J8: 2000

guarantee
J8: 4000

hierarchy
J8: 4000

identical
J8: 4000

ideology
J8: 4000

infer

J&: 7000

innovate

insert

J8: 4000

intervene

J8: 4000

isolate
J8: 7000

media

J&: 2000

BT RPAEO 20 OIPEFEFRR) A NSRBI 72 ZEHEE R 63

Maxwell is one of the scientists who laid the foundation of electromagnetics.
(Fv 7 AT 2 Vid, BEATFOERLZECTRPEDOLANTHD.)

(4] Bk - HuEk - #HER - KK

There are tens of thousands of space debris orbiting around the globe.
(WERDJH Y %2, Wb OFHIT IV > T b.)

(4] SEfk - 24F - 3Hl (8] ~Z2 &R0 35 - ~2RET5

The students were graded on attendance, class participation and test results.
(A, B, BEANOBN, BLIOT A POMRICE - Tl 2 HNiz.)
(] ~%RFET 2 [F4] PRGE - R

Freedom of speech is guaranteed in the constitution.

(EmoHHE, BETHRIESNTNS.)

(4] B&T& - P51

There is a hierarchy in the monkey community as well.

(FVOHRICH, FHPH5.)

DE] F—o - FLw

These two drugs have an identical chemical structure.

(INB 2o0%F1E, FW—o ¥ HEs LTwab.)

(4] 474+ u¥— - Burdf

Ideology is part of culture, or more radically put, culture is ideology.

(A 7FHuF—1d, LO—HTH 5. b o LBV, LES THaF—Tdh 5. )
[(B] ~%Hwd 5 - ~%2BRT 5 - ~%2 3OO T

The inner structure of the earth can be inferred from seismic waves.

(M IERDONFBRERE 1L, WA SHEWTE S.)

[(B] ~z2h#FT 5 - ~ZEHT 5

The team has innovated a new vibration control system.

(ZOF—21d, FLOIREHFIH S 272 2HIEL7.)

[B] ~%Z¥AT S

Insert a bar magnet into a coil, and see how electric current flows in the coil.
(A Z I A VITHAL T, BRALED L) ICHNLZ2BHLES\.)

[(E] BICAZ - ET D - AATZ - THTS

The U.S. intervened in the dispute between Israel and Palestine.

(TAY A, A ATITNVENVAFFOHFITHAALIZ)

()] ~zMREEd 2 - ~2 M35 [B] ~%ilitks 5

A new type of virus was isolated from the culture.

(FED > 1V AH, BEFEWH S 3 hiz)

(] RAXAT 4T - A3 - TR

The discovery of dioxin in paper goods received wide media attention.

BRSNS T A F XY VRO o722 L1, KX AF 4 TICHY FiFshns:.)
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399.

400.

401.

402.

403.

404.

405.

406.

407.

408.

409.

410.

411.

Ay I
mode (4] #kaX - oA - =8 [#] sl [B] B0 &
J8&: 4000 There was a significant change in the mode of plate motion at interplate boundaries.
(FV—MERTOTL— OB &SI, REBZAPDHo7.)
paradigm [(£4] 789 4 & - HfllA

J8&: 7000 Noam Chomsky brought a new paradigm for linguistics.
(/=2 - Farbxx—iL, SEFITHGHAZL-61072)
phenomenon [%] ¥4 - k3 (# : phenomenons * phenomena)

J8&: 3000 Superconductivity is a quantum mechanical phenomenon.
(B{EE, BPNFNRBIRTH 2. )

priority (%] BESCNELL - BEJohE

J8: 3000 The company places a top priority on customer satisfaction.
(ZO&AEE, HEAMEEZRERICLTWS.)

prohibit (B)] ~2%)195% - ~%2#ll35

J8: 6000 Smoking is strictly prohibited inside the factory.

(THANTIE, BRI ShTnwd.)
publication (%41 WA - FAT

J8&: 4000 List all your publications and patent applications in the resume.
(BEHFIZE, &2ToHEEWE, NAFEWHFELZLEATLI L)

quote ()] ~Z51H35 - ~2/EEdS [4] 7IH - AEEL D

J8&: 4000 An eyewitness was quoted as saying that a black vehicle blew up as it passes the
hotel. (HEFOIEZIZEINE, BOHESFT VO EZEY)BELRICEKELZE WS
ZE7)

release [(B] ~%2WiT 5 - ~%2RETH [ IR A%

J8&: 2000 The hostage was released after ransom was paid.
(NEZ, BREsIbRRIS, iEhiz.)

reverse (] ~%2 T 5 - ~%2<202F [l & - K DBl #o - fodo

J8&: 3000 The earth’s magnetic field has reversed its polarity many times in the past.
(bEROBS, BRI D T OMmEE RS € Tn5.)

simulate [B)] ~%233I2Lb—195% -~%Fhb

J8&: 8000 They simulated the sinking of the Titanic using computer graphics.
Meoix, aYEa—377 7497 AL T, 4=y 7 0hREHBIL.)

sole D] Me—o  [#] R - #uk [4#] 7 2 (sole fish)

J8&: 4000 Alcohol is not the sole factor of liver disease.

(T —=N72FH, WEHEOERTIE 2 \w.)
somewhat (] Wi RA - %

J8&: 3000 My tooth feels somewhat loose.
(HiAs, RRH20nTWw5SX9H7)
submit [B)] ~Z#HET2 - (~12) 79 - RHET 5
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J8: 4000 Applications must be submitted by May 28.

(ObZEERIE, 5 H28HF TR L 2T iz e 54\w.)
412. successor (44 MR - AHBEA

J8: 4000 A successor to the party leader has not been decided yet.

(EREROGMEL, FERTE > TRV
413. survive ()] L&KL - ESEDS - (R EE) EVUS

J8&: 1000 People who survived the atomic bombings of Hiroshima and Nagasaki are called

“Hibakusha.” (W& )LEOEBRCTEZEIT ANz BI1E, [HRE] LIFIEhTw5.)
414. thesis (4] G - fnd - Fak (8 theses)

J8&: 4000 John Nash's Ph.D. thesis in game theory had an enormous impact on various fields.
(Vary - -Fyraor—siElld aEbmsid, ke 2ok 2gBe bz
7z.)

415. topic (%] GG - 8
J8: 2000 The book covers a wide range of topics in modern physics.
(ZoARE, BRYHEEOS T ST AHEEMREL T 5.)
416. transmit ()] 2h2% - ~%#ETE - ~%2nET 2 [X] GiksaEx) H9oF - BREs€S

J8&: 5000 The broadcast was transmitted via satellite to more than thirty countries.

(ZolaklE, BELZEUT, 307 ELL EoE L I2®%RG I 7z.)
417. ultimate DF] oM - et [44] ZoMnd
J8&: 4000 The ultimate goal of this project is to sweep up all the space debris.
(Co7uy ey FOREBOHERE, IRNTOFHIIZHRETHIILTHA.)
418. unique E] e - 2L [#] —=%
J8: 2000 “Amae (indulgence)” is a unique feature of Japanese culture.
(THzJ & HAHEHORKHTHS.)
419. visible DE] HICRZ% - Hiio

J8: 3000 There were no visible signs of life on the island.

(ZDRIZIE, EEWHPHEA TR LR Eho7z)
420. voluntary ] B3ENZZ - HOOBERICLS - 5D

J8: 4000 Meédecins Sans Frontiéres (MSF) is a voluntary organization.

(THEBi % EBERIH] &, KT v 74 THKETHS.)
] Group 8
1. abandon [B)] ~%2#ETH - ~ZHETS

J8&: 3000 The null hypothesis was abandoned and the alternative hypothesis was adopted.
UnEAEUIFER S, e ARSI R S h7z,)

422. accompany (By] ~ICEAT9 5 - ~ICfBiLCieZ 5[] ~ofER%z25 5

J8&: 3000 The earthquake was accompanied by a tidal wave 3 meters high.

(HEDOHIZ, 3A— MLOESOHNEIE.)
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423.

424.

425.

426.

41.

428.

429.

430.

431

432.

433.

434.

accumulate

J&: 5000

ambiguous

J&: 6000

append

appreciate

J8: 2000

arbitrary

J8: 5000

automate
J8: %k sk k

bias
J8: 5000

chart
J8: 3000

clarify
J8: 5000

commodity

J&: 5000

complement

J&: 6000

conform

J&: 5000

AR

()] Bbb - ~%2FNTD - ~2HA LTS

Cholesterol accumulates in the walls of blood vessels.
(FLATFE— VL, MEORECERT 5.)

[E] Tz - AL - W72

The explanation of the causation is ambiguous.

(HARABROFID, HNFNTHS.)

[B)] ~ZTFmR % - ~&Mnd 2

A glossary to scientific terms is appended to the textbook.

(Z D#FEFIZE, BAMFHEEIDOVTVS.)

(] LA T2 - BET2 - ~2mFFiliTs - ~%2d ) H7< )
The yen appreciated sharply after the Plaza Accord in 1985.

(&, 19854ED 7 7 EE Ok, SHIZEE L)

F] BT 4 - ZENZ - EEO

The chloroplasts were taken from arbitrary plant samples.

(Z DA, FEOMBIEARNL E SN

(] (~%) HENMLS 2

The assembly process is fully automated.

(AT TTOE A, BECHBLENRTYS.)

(%] b - SEABL (B8] ~ICNA TAE2T 5 - ~IRAEZ 5
The players protested against the biased judgment of the referee.
GEFIX, FHOM-o 72 HWrchiaL72.)

(B W Fx—1F 727 [#] wK- R[] 56

The chart shows the increase of CO, during these twenty years.

(77 71&, 2 Z204EMOZBALRFRREOHMEZ/RLTWA.)

[(#)] ~%WECT5 - ~% A5 L] ~28L3 5

The police have ordered an autopsy to clarify the cause of death.
(BE, REZWOLNTT L7012, LR ZRD7z.)
(%] R - HAS - ARELTHEN

There is a shortage of essential commodities in the region.
(ZOHIRTIE, EGLEGPARLTVS.)

(] ~%45 - ~z2®%ET 2 (%] e (K] WES - K
(5] #hiak

In the DNA double helix, the amino acids in base pairs (A-T and C-G) complement
each other. (DNAD“HE LA TIE, HEd (AT Xix CG) 7 I VWY, 72hw
WZHiVE->Tw3.)

[B)] (~12) $E9 - (~12) F#T % (to) + ~IZHEDE D

Human actions and reactions do not conform to the laws of physics.

(NHOVER & BAERE, WERERNCAED Zw,)

(7] #hfk
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435.

436.

437.

438.

439.

440.

441.

442.

44.

444,

4.

446.

447.

contemporary
J8: 3000

contradict

J&: 7000

crucial

J&: 4000

currency

J8: 4000

denote
J8: 6000

detect
J8: 4000

deviate

displace
J8: 6000

drama

J&: 2000

eventual

J&: 5000

exhibit
J&: 4000

exploit
J8: 4000

fluctuate
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D] LD - B

Toru Takemitsu was the best-known Japanese composer of contemporary music.
(R, DA%, HEAOBREEOIEMRIZ-72.)

(] ~EFET S - ~ L in

If the data contradicts the hypothesis, then the hypothesis must be rejected.

(F—= MR ETET A L) %0, KHEZFEHERIRLRW.)

(] BmRZ - PEm % - Bz

Charles Darwin found crucial evidence for his theory of evolution in the Galapagos.
(FX—=IWR-F—=7 4 &, PEOEAGRDIEN AT, 7T /8T AGEETHRLZ:.)
(%] #1g - it

The US dollar is the key currency of the world.

CRE Fvid, EROMEHEECTH 5. )

[B)] ~Z2ERT 2 - ~ZFRT D

TM denotes trademark status.

(TMI3, FaREEsRDH o L 2mT.)

(] ~%2 /o5 - ~%ZMAIT 5

A sniffer dog detected drugs in the travel bag.

(AR, FRATH SO > ToREE RoF7z.)

()] 2z - &35 - ~2&B S O] () BgkE

The geostationary satellite deviated from its original orbit.

(ZofEfr R, bEoP@E»bIEThi)

()] ~CEWRTE - ~2BESIEL - ~ZHET S

A water-insoluble gas displaces water and collects in the container.

OKICIET RwaRIE, KEERL CARICEES.)

(] B - B 7% R

The series of documentary films deal with big engineering projects and the human
drama. (ZOFF a2 XA F ) — -2 ) =X, KELTETu 7, AMFZ
< EPoTnD.)

D] fiRE LTI % - ik

The Watergate scandal led to the eventual resignation of President Nixon.

(74 —4%— 7= bRfHE BRELT=2 Y Y REEOTHTICO B A 572 )
(4] R - BER [B)] ~%2ERT5 - ~%nd  [HE] G - GEm i

A sample of the present invention is attached as Exhibit A.

(BIEM DY > T3, FEIEA L LT, FEhTns.)

[B)] ~2FHT S - ~ZHNT S

The colonists exploited slaves in terrible conditions.

(AMiEH 7B, k% O EWGIEFTHIRL7:.)

(B] Z#HT2 - ET$5 - ~2LHHIED
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448.

449.

450.

41

452.

453.

454.

435.

456.

437.

458.

459.

guideline

J8: 4000

highlight
J8: 4000

implicit

J&: 5000

induce
J8: 4000

inevitable
J8: 4000

infrastructure

J&: 6000

inspect

J&: 5000

intense

J&: 4000

manipulate

J&: 5000

minimize

J&: 6000

nuclear

J8: 2000

offset
J8&: 5000

I W

The chart shows how the unemployment rate fluctuates over time.
(CD7 T 71, REROZEHZRLTVS.)
(%] 88t - A FF A4~
We need a clear guideline for the fair use of copyrighted materials.
(EVEHECHES N B WO R ERICOWT, WiER AL KT 4 VA BEE)
(%] REZar - v= [B] ~%2@#HT5
The speaker highlighted the importance of biodiversity.
(FEFHE, EMEHREOEERITOWTHAL7Z.)
UF] BEERD - W50 72
Skill acquisition always involves implicit learning.
(AFNOERIT, HIEBRWEFEEZ L %))
(] ~%2ed - ~2FHETS - AlTHOT-3E5
A change in a magnetic field induces an electric current.
(AR OZEALDS, BREFETS.)
DE] #ET SNz - IR 7%
Human errors are inevitable.
(NDEGEWE, SRz,
(4] (i) K- A1>77
The internet is a global information infrastructure.
¥ =4y M, HRARBEORHAEETHS.)
[(B)] ~2H&ET 2 - ~2HETS
An IAEA (Int'l Atomic Energy Agency) mission has inspected the nuclear power
plant. (EIBRE - ORAR2S, ORI ETzHRAL7.)
UE] @z - v - iy
Forest fires can be sparked by intense sunlight focused by water drops on dried-out
vegetation. (K FIZ, BREINZ KFE DAY, KEIZ X o TR WA KIZER/LEI NS
Lo TRIZZENDD.)
()] ~28MET 5 - ~%2#5
The only way to create a blue rose was to manipulate genes.
HUNGZEN 2T 0120E, BRFZ28IET 2PN IHEN ho7z)
()] ~Z&RNBRIZTE - ~Z&RMLT 5
We need to find ways to minimize the effects of global warming.
(IR DB & f/NRICIIZ 2 k%, AT LEFH5.)
] EFho - Bo
Marie Curie is a pioneer in nuclear physics.
(% - F2)—id, BEFEYEZEORRETHS.)
[(#)] ~&MxT 5 [24] MR

The merits and demerits offset each other.
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460.

461.

462.

463.

464.

465.

466.

467.

468.

469.

470.

471.

472.

paragraph
J8: 3000

plus
J8: 4000

practitioner

J&: 4000

predominant

prospect

J8&: 4000

radical

J8: 4000

random

J8: 4000

reinforce

J8&: 4000

restore

J&: 3000

revise

J&: 6000

schedule
J8&: 2000

tense

J&: 6000

terminate

HTRPAEO 2D OIGFRRSG) A DRGEIZINT 7 APEE R 69

(DhIertE S )

(4] B (B3] ~2BaEICnT 5

The rule of thumb is: “one paragraph, one thought.”

(HZix, T1E&ICE, 120%%. )

(%] 792 D] ko - Btko  [#] ~2zs [ 2ok - 5612
The density of solution may vary within the range of plus or minus 5 percent.
(BRDOWENE, TIA - XA FAS5%DFPH TR > THRW.)

(4] 2B - BHSEER

The first practitioner of Western medicine in Japan was a Portuguese Father.
(HARZBUI 2WHEEFOMOHFEER, KV T VoML THo7z.)

DE] XBCH 7 - sk L 72

Temperature has a predominant influence on the rate of chemical reactions.
GREEIE, ALFERUBOMEEZ, RN B 2o Twb.)

[44] RaAA - Haal

They run a nursing home for patients with no prospect of recovery.

(M5 1%, FEORAH D WEZO R EEE L T05.)

D] 20tz (4] @k (8] #fi [Mk] 4

During the 1960s, radical student movements broke out all across the world.
(19604FA%, S Tl AR E B DS FE L 72, )

DE] e - B - %

Individual subjects are chosen by random selection from the population.

(fil % DOBeERA L, BHERID S BRI TRIEN 5. )

(B)] ~2w@(bd5 - ~Z2Hims 5 - ~ZEd 5

Grass fiber reinforced concrete (GFRC) is used for exterior walls.

(7T AMHERTSR T > 7 ) — M&, SHBEICED LS. )

(8] ~%EIXT 5 - ~ZILOREITRT

The Buddha statue has been restored many times.

(ZOAMEIL, MEDBEINTNS.)

(B)] ~2dET S - ~%BIET5E - ~ZHET

The course of study is revised every 10 years.

(FE|EEHIT, 10FETLICWEENS.)

(4] P& - &t ()] ~2FEIlAND - ~ZEtld 5

The company's annual stockholders meeting is scheduled to be held on May 23.
(Z D& DERET R, 5 H23H AN S PE.)

el BkL7: [S] Wl

The political situation in Thailand is getting tense.

(7 £ OBURIRIIE, BREZHELTW5.)

[B)] #&HET2 - ~%2RbOES
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70 A WK

J8&: 5000 The experiment was terminated because of device failures.
(FEEOWET, FERIIhIrshz.)
473. theme (4] 8 - 77—
J8: 2000 The main theme of the movie is “seize the day.”
(ZOWE DAL 7=, [5REXS] )
474. thereby [Bl] N2k -T, ZOkE
J8&: 4000 Regular exercise strengthens the heart, thereby reducing the risk of heart attack.
(EB BB OIAE R L, 2O EICE T, DBIEDY 227 2%5.)
475, uniform (4] #k DE] W—o - —fo [#] ~%F—1237%
J8&: 2000 Seeds of uniform size and shape were selected and planted in pots.
(MUBERESOMEEAT, MARKIIHZZ.)
476. vehicle (%] B W - (EFE - B
J8&: 2000 Language is a vehicle of human thought.
(BEIX, ABoMEZD, (REFETHS.)
477 via [AT] ~#EHT - ~%2loT
J8&: 4000 Passengers travel via hub airports to their final destinations.
GRZIE, NTREEBEZEBLT AN~ ET2).)
478. virtual DE] FFE Lo - o - kv F7—27 Lo
J8&: 6000 Virtual imaging technology is being used to assist surgical operations.
(RAEA A = D HADS, SFTF 2 S 27201 fibhTnb.)
479, visual (] #HEo - HICRZ %
J8&: 3000 Visual images are enhanced by sound effects.

(R, BBHRICL-T, BmOLN5.)
#80. widespread — [JE] JA#PHIZ KRS - JA{AT& S 72
J8&: 3000 The use of generic drugs is widespread in some countries.
(WL OPDETIER, Yoty Z7EPRIEbITn5.)

] Group 9
1. accommodate [B] ~ZIWNET S - ~THEET 5
J8&: 4000 The auditorium can accommodate up to 400 people.
(ZDFR—VIZ, BIEZ00%4FTNETES.)
482. analogy (4] .- Bz
J8&: 5000 The iceberg analogy is often used to indicate that there is more beneath the surface.

CkIlo7Fa Ty —I, TIZbo b RELDIDOVHAHIELE) L EIZ, IL{fibnb.)
483. anticipate (] ~Z2FHT5 - ~2WFET5

J8&: 4000 Car sales in Q1 proved much better than anticipated.
(1PN o BB ERGE R, BIfFL w7l ) iEa»c kilo7z)
484, assure (B)] ~ZE55 - ~%iFlJHA S
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485.

436.

487.

438.

439.

490.

491.

492.

493.

494.

49.

496.

J8: 4000

attain

J8: 5000

behalf
J8: 4000

bulk
J8: 4000

cease
J&: 4000

coherent
J8&: 5000

coincide

J&: 5000

commence

J&: 4000

compatible

J&: 5000

concurrent

J8: 8000

confine

J8: 4000

controversy

J8&: 4000

converse

HTRPAEO 2D OIGFRRSG) A DRGEIZINT 7 APEE R

More tests will be needed to assure the safety of GM (genetically modified) food.

(ERFHARR EmOLEMZRAET 51213, o T A MPREESH )
[(B] ~%ERT D - ~ZRLETS

The three-car maglev train attained a maximum speed of 581 km/h.

(20 3WMHED) =7 =5 —H—1&, frkdi58lkn% EH L7z, )

(4] DD - 7% (on behalf of ~)

The chairman welcomed all the participants on behalf of the steering committee.
(EEIX, EEZHREAERLT &2TozmEz#LL7.)

(4] S - Rk - BE

You can travel more comfortably by reducing the bulk and weight of luggage.
(FHOPSEESEBSTIET, LYPEIHKRITET LI LN TES.)
(] #b2 - 1kE2 - ~%1EHD (7] il

The two countries agreed to cease the war.

(ZD2o0EIE, FRIZERELR.)

DE] BR—BLCTw5 - BRIERE L7

Paragraphs should be coherent and sentences should be arranged logically.
BHIIER-ELTBY, UIMBEMIIERSTTW D 2 Epvk7:)
(B)] FFEISEZ S - —HT 5

You cannot claim causality between incidents just because they coincided.
(HPRFDFIFISREZ 57205 L 5o T, RRMBREFRTH2ZLIETER.)
(By] #6E% - FIAT %

The first semester commences on September 28.

BE1eARY—1d, 9H2BHIZHKES.)

[E] MtEAS R - HifED B 5 (with)

This application is not compatible with the new OS (Operation System).
(ZOVT7 b7 T, H725 LVWOSEHHEDE:.)

[E] FHERCEZ S - —F L7

The conference has three concurrent sessions in the same time slot.
(ZD%&TIE, FUKRMBZ, PITLT320%E H.)

[B)] ~ZHIRT 2 - ~Z2HLADL  [£] Bedt - Hil - #Hipd

Nelson Mandela had been confined to jail for 27 years.

(A ¥ 2770, 2HERB BT AN LR Tz,

EAN SN

The controversy over capital punishment began in the 18th century.

GEH % o < Bamdid, 18MALICIHHE - 72.)

()] K35 - #aE55 D] #o - do

The humanoid robot can converse with people.

(FOANRIORY ML, NEKFTHIENTES.)
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72

497.

498.

499.

500.

a01.

502.

303.

S04.

305.

506.

a7

508.

509.

device

J&: 2000

devote

J&: 3000

diminish

J&: 5000

distort
J8: 6000

duration

J8: 4000

erode
J8: 7000

ethic
J8: 5000

format

J&: 4000

founded

inherent

J&: 5000

insight
J8: 4000

integral

J&: 5000

intermediate

J8: 5000

I W

(4] EE - il - TR

The capacitor is equipped with a safety device.

(ZDaryFrHiZid, REREFOVTVS.)

[Bh] ~% (10) ST - ~% (~10) HasEs (to)

Mother Teresa devoted her life to helping the sick and poor.

(FHF— - FLHE, EEEELVARHD 2 AOFFICS S1F72)

[(By] Hihd5 -  ERD - ~ZWOT

The Arctic ice cap is diminishing rapidly.

(e DKIRD:, 2SI L TETWS.)

[(B] ~%2 T2 - ~%2@»H5 - (FFEE) ElliT5

The textbook is being criticized for distorting historical facts.

(ZoHFEFE, BEHWFELEML V2 LRI TNS.)

(441 IR - $Fes

Japanese Americans were put into internment camps for the duration of the war.
(HA7 XU A NE, SO, WAITICHRShZ)

(] WETZ - ~2RETL - ~2LLIEG

Rocks are eroded by wind and water.

Cerld, KEJHIZE > TRESNS.)

[44] fwd - &K

Engineering ethics is emerging as a new discipline.

(LB, Fi-zpMntre LTRELTE )

(4] #X - 5] Gofsliekz) Wity 5

Your lab report should follow the format of the IEEE Electron Device Letters.
(%8R AR — M, IEEEOBEFRELEOHEXISHEV RS W)

DE] (12) FEowie - (%) HE#L 525 (on)

The constitution of Japan is founded on the principles of democracy and pacifism.
(HAEZEERZ, REEREPHNEROEHIZESHNTNS.)

DE] EENDOE D - KRiiboTw5 - BWAED - NIET S

The acquisition of a native language is an inherent human ability.
(REEOBEFHE, ARMICARIED - 728 TH 5. )

(4] 5Ty - Hak

Ryotaro Shiba's works reveal his deep insight into history and human nature.
(RIS ERIOMEMIZIE, PR & AFITHT 2R WASEIEN TV S.)

DE] (&fkzxfk+ 5 1T) AnfRko  [#] &5

Anime has become an integral part of Japanese culture.

(7=A1F, HEAZIIRKL ZLDTERVERE R ST2.)

E] dfho - o [f4] s

English 303 is a technical writing course for intermediate level students.
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210.

ol

512,

o3

o4

alo.

216.

a7

28.

219.

2.

a2l

522.

manual

J&: 3000

mature

J&: 4000

mediate
J8: 6000

medium

J&: 4000

military

J&: 2000

minimal

J&: 5000

mutual

J&: 3000

norm

J8&: 4000

overlap
J8: 4000

passive
J8: 3000

portion
J8&: 4000

preliminary
J8: 5000

protocol

HSRPAED 720 OFEFEESR ) A N REIC T - RG]

73

(English 3031, WL XVDEEDIZDDT 7 =ANV - T4 T4 ¥ TA—ATHb.)

(%] =27V - Bk YI#E

Refer to the instruction manual for installation details.

(£ YA P=VOEFIZOWTE, BRFHEE SR L)

D] ek L7z (8] #9 - ~Z2 A E5

The ‘real’ 3D technology is not mature yet.

(1ZA L D O 3DEHIE, FZWHL TWaw.)

(By] 92 - MLHTE - ~2L)RT

CMC is short for computer-mediated communication.

(CMCEZ, TayEa—Fififrdh/zaia=r—2ary]| OBTH%.)
(4] v - Bk CBD - T DBl o

All magnetic waves including light travel without a medium.
BZEECETOERMKE, EEI R THED.)

(%] HRx B #Ko - H5dHo

The security council can order the use of military force.
(ZEMEHERE, EHRIOTEEGLL LD TES.)

AR UNORE UND

The building survived the earthquake with minimal damage.
(ZoE NI, DTHLOMBEET, WRICHR)

D] #iHo - L@Eo

Cross licensing will bring mutual benefit to both companies involved.
(72742 281, BRI 2RO EEZ b 725F.)
(4] FRdE - B - /v~

It is safe to follow the norm, but the norm does not always represent our best
interest. (BALIZHE > TWAIUFRATEAS, BHIZTR 2 128 > TIRF\EO DL D LIRS 2 \.)

(4] EME - E) [B)] E422

There are overlaps and gaps in word meanings of different languages.
(R EHOEOERIE, Ea) EThrd5.)

D] =& o - Hwwse [S] Z#Eo

Passive smoking is the inhalation of secondhand smoke, and it is harmful.
(BRI &0, AW 7RO RN H 2 & T, HETHS.)

(%] &5 - HoUT [B] ~%25HT5

A portion of the wing broke off and the aircraft rolled over into the sea.
(HO—EAH I, RITFRITZ D DAL RAOMmNEEL:)

(] Phio - dEfiEREo  [44] 84 - P - 7% - Phialh

A preliminary survey was conducted to establish the basis for further study.

(S5 BMROHEMELEL 7201, PhiwAsThh.)
[42] TN Pibe & - Hh5fesl - HE
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74

523.

h24.

2.

526.

527

528.

9.

530.

%3l

932.

533.

534

J8: 5000

qualitative
J8: 7000

refine

relax

J&: 2000

restrain

J&: 5000

revolution
J8: 2000

rigid
J8: 5000

route

J&: 2000

scenario

J8: 6000

sphere

J8&: 4000

subordinate

J&: 5000

supplement
J8: 4000

suspend
J8: 3000

A WK

The experiment was done according to the animal experiment protocol.
(ZoFEBIE, BWFEHETT b a—VIichts T, fibhiz)

D] Bz [Me] @z

Quantitative changes will eventually bring about qualitative changes.
R 2, WINEN G2 E 7253725 9.)

[(B] ~%2WMT 5 - ~ZHRT D - ~ZURTS

Gasoline and diesel are refined from petroleum.

(A veFa—ENE, AmroERshG.)

(8] VIv 7 A§% - ~%&EHAT S

Aromatic oils help us relax and relieve strain.
(7a<t AN GFEM) & VT v s ASE, BREE OO,
[(B] ~Z¥HT 5 - ~ZET 5

The rate of fall is restrained by friction.

(% Tk BRI L > Tl S N5, )

[44] ﬁﬁ‘ﬁ . E'ﬁli S EIL AR/ A

England was the center of the industrial revolution.

(£ FY AR, EXEFEGOPLTHo72.)

DE] B - Wl L7z - F#Eo 2w

It is difficult for the agile to function well in a rigid organization, and vice versa.
(B2 NiZ, BB L L7MHkCld ) MR L v, i) $7-8)

(2] #EEe - v— 1 (@] Bz LbEd

The Silk Road was a trade route across Central Asia.
(vrua—Fi&, HR7 VT 2T 2852 572.)

(%] ¥+ VA - fhE&

The worst case scenario is the computer battery runs out in the middle of
presentation. (IKED 7 — Ak, FLEX¥VO®EPT, aYEa—F0EBIYNTL
Hz ez

(%] B - REK - B - 08 - s

A meridian is an imaginary circle on the celestial sphere.

(FH#IE, REZ—HE$T G EO#THS.)

(%] #F D] Thio [#)] ~2tE 3¢5

The High Court is subordinate to the Supreme Court.

(EAEEHITIE, BT CRy 5.)
(%] #hoe - KM (3] ~245%7 2

It is important to supplement textbooks with additional readings.
(FREZ, SHICHETHY 2 & RWEZ)
(8] RO TF25% - ~&2—KpEIk34 [] Boddrz) Mr35

The criminal was sentenced to one year in prison suspended for two years.
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BT RPAEO 20 OIPEFEFRR) A NSRBI 72 ZEHEE R 75

(Z DI, BB LA, BUTIT 24E0HRZ 21 72.)

53%. team (%] F—2 - M [B)] ~%225%1F5% - ~%2HlIZT 5
J8&: 1000 Suntory teamed up with an Australian venture company to develop blue roses.
(Fr P =i, A=A LTV TORYF v —RFELHAT, HFONTERELE)
5%. temporary O] —Wem 7 - B0
J8&: 4000 Labor conditions of temporary workers need to be improved.
(FRIRF TR 57 B & D77 B S 3 UG SN B LEDPH 5. )
537, trigger [(£] 5l&4 - Zopld [B)] ~%25|&&Z T
J8&: 5000 Volcanic eruptions may trigger earthquakes.
(RIS, MRZGISEITILEdHS.)
538, unify (B)] ~=f—95 - ~2H—LT5
J8&: 8000 Japan was unified into Yamato by the 7th century.
(HARIR7THAL A F T2, KANSHK—Shz)
539. violate (8] FEHAE) #EXTD - ~2RET L
J8&: 7000 The suspect was arrested on suspicion of violating the Copyright Law.
(BREE L, FEMDLEROZRET, @fishs.)
540. vision (%] Bl - SER - "aal - e - g
J8&: 2000 Companies with a long-term vision will survive competitions.
(T4 VarEiolzatds, mPFIEEKZ S T L)
] Group 10
1. adjacent B AR RN = A
J8&: 5000 Adjacent angles have a common side and a common vertex.
(Bgesmid, MLe, MUBEHMZ®RAETS.)
542. albeit [B2] ~12v20bobF - ~TlddhbH°
J8&: 5000 We made a step forward, albeit it was a small one.
(Faid, 72 2ANSH—KRThHh, HCHAHRLZ.)
543. assemble [B)] £F 5% - ~2HAVTS
J8&: 4000 The International Space Station (ISS) is being assembled in space.
(BB FHAT—a v (ISS) &, FHTHALTOLNTWS.)
544. collapse (4] Wi - 3k (8] By 2 - Bfihd - ~Z2o57
J8&: 4000 The Berlin Wall collapsed on November 9, 1989.
(NV ) ¥ DR, 19894E11H 9 HICHIEL 72.)
5. colleague (%] [ - A
J8: 2000 Watson and his colleagues won the Nobel Prize in Physiology or Medicine in 1962.
(7 by v EHOFEEEE, 1962410 ) — VAR R 2 ZH LT:.)
546. compile ()] WET 2 [1B] 3> 800 (BEWEEICHER 325
J8: 5000 Samuel Johnson compiled the first dictionary of the English language in 1775.
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76

M7

8.

9.

590.

%l

592.

593.

4.

9.

536.

957.

998.

599.

conceive

J&: 4000

convince

J&: 2000

depress

encounter

J&: 2000

enormous

J&: 2000

forthcoming

J8: 5000

incline

integrity
J8: 5000

intrinsic

J&: 7000

invoke
J8: 6000

levy
J8: 5000

likewise

J&: 5000

nonetheless

I W

(FIaxh-Varyrid, ROOEEFERLITIFEICHELT.)
()] Bwvwol - F5H35 [K] By 5 - (F%) w5

Newton conceived the idea of universal gravitation when he was in early twenties.

(Za—+>id, 20/HEOE, HASINEERTHICE 7))
[(B)] ~2MRsEs - ~%HMHT5

The experiment provided convincing data to support the hypothesis.
(ToFERL, W EZRTL20ITH73E0H 57— 5 2R L72.)
()] ~2W LTS - ~2BRICZE2

A lot of people are depressed under the helpless outlook of the economy.
FHL S DBRVRFEORBLOBT, ZLDOALDPEIILSTVS.)
(4] E8 - mEv (B ~ 8T 5

Do you believe we would someday encounter extraterrestrials?

(Fx 1L, COPMEIMEGREERT L LRI TH?)
FANEVN/RY YN

Even small meteorites would create an enormous crater.
UhEATY, SorEERZZ L= —%/E5759.)

[E] kHXE - RoTL 5

The paper will be published in the forthcoming issue of Nature.
(ZD@mXIE, RGDIAF ¥ —GETHREENLTETHS.)

(B < - T 5 - (N) & LicnwelibEs

The axis of the earth is inclined about 234 degrees.

(Hbilhix, F234EEMETWV5.)

(4] MRFES - Ak

Integrity is the cornerstone of scientific research.

@FEZD, BHEMEOLETHS.)

(] Ak o> TW5B - EAD - NIER 7%

Children have an intrinsic desire to learn.

(T2, BRI Tn5, #TH) LTV H 5. )

()] ~2BwilkEZ sS85 - ~&20&72T3

The song invokes the memories of the years gone by.

(ZoHiE, BEELESLBAOZLZRWEZ SE5.)

(%] B0 AL - 4 (8] (ehid) 20%32

Value Added Tax (VAT) is levied in most countries of the world.
(FH 0% OFET, HEB (HIMiES) 28RS Tw2.)

(Bl WT< - Wk

If parents pay respect to proper diet, their children will do likewise.

(BAEY 2 AFITERZ L TR, BOOFRAB ORI ) $57259.)

[Bl] Zhi2db Db bd - Lidwvnzr

—-110—-



260.

261.

262.

263.

264.

265.

266.

267

568.

569.

an.

J8: 4000

notwithstanding
J8&: 7000

odd
J8: 2000

ongoing
J8: 7000

panel
J8: 2000

persist
J8: 4000

pose
J8: 4000

reluctance

J&: 5000

so-called

straightforward
J8: 4000

undergo
J8: 4000

whereby
J8: 4000

HSRPAED 720 OFEFEESR ) A N REIC T - RG]

The case was all closed. Nonetheless some doubts remained unanswered.
(ZDOFMIHRFE AT, ZRICE 2D LT, W OO TEM»EK-72.)
[AI] ~Zd22bod [El] 2hildrrbbd

Notwithstanding the above, this warranty does not cover the following damage.
(LROZOIZ2 b ET, oL, UTFOHEIOWTIRIEL Z\.)
DBl &7 - w7z (8] F8#o

According to the Yin-Yang theory, even numbers are yin, odd numbers are yang.

(P& T, BBk, HBEmETH5.)

D] fkfrb o - #Ei7H o

There have been ongoing negotiations on nuclear disarmament.

RSN 7228800%, #kft L Tiibh T b.)

(%] 784 CREMS) - 2340 2 b GE%) (]

A panel of researchers concluded that a giant asteroid Kkilled off the dinosaurs.
BB ORASD, BEEMHE S E-O/NKEOE L TH S L iawmf7.)
[B)] Lo ERT S - #<l

You had better check with your doctor if the symptom persists.

(b LIEERDHEC &9 ThhR, BHEICHELZZHAR W)

(4] %3 [B)] A—X%lb - -50%35 - (HEREE) 51&REIT

The increase of resistant bacteria is posing a new threat to human health.

(M PEW YIS, AN ORI H 7= 42BME 52 Tw5.)

(%] BAERK - Gt T 2wz e [B] mAsH

There is always a reluctance to change established practices.

(RDOENTZR) FHEEZ DT LITIE, BICEIGH5.)

DE] whwd « ~LIFERTn5

The so-called “secondhand smoke” is immediately harmful to nonsmokers.
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The paper criticizes the flaws of conventional methods in a straightforward manner.
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The Earth is undergoing a major climate change.
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Transcription is the process whereby DNA is copied to a single-stranded RNA.
(5 &1k, DNADHSEORNAKKE L E SN L BBROZETHS.)

—111-





